Annexure -H2

Notice for appointment of Regular / Rural Retail Outlet Dealerships

		HPCL proposes to appoint Retail Out	tlet dealers in Ti											
SR No	Name of Location	Revenue District	Type of RO	Estimated Monthly Sales Potential #	Category	Type of Site	Minimum Dimer	nsion (in M.)/Area	a of site (in sq.M) *	Finance to be arran	ged by Applicant	Mode of Selection	Fixed Fee/ Minimum Bid Amount in Rs(Lakhs)	Security Deposit in Rs.Lakhs
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular/Rural	MS+HSD in KL	SC SCCC-1 SCPH ST STCC-1 STPH OBC OBCCC-1 OBCPH OPEN OPEN CC-1 OPEN CC-2 OPPN PH	CC CFS DC	Frontage (m)	Depth (m)	Area (sq.m)	Estimated working capital requirement for operation of RO	development of	Draw of Lots/ Bidding		
1	WITHIN 2KM FROM COLLECTOR CHOURASTA, ADILABAD ON ADILABAD-NAGPUR ROAD NOT ON NH	ADILABAD	REGULAR	170	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
2	ON LHS, WITHIN 4KM FROM IB CHOWRASTA, MANCHERIAL TOWARDS LUXETTIPET ON NH	MANCHERIAL	REGULAR	150	OBC	CC	35	35	1225	32	12	BIDDING	30	4
3	ON RHS, FROM ANKAPUR VILLAGE TO ARMOOR ,ON NH	NIZAMABAD	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
4	WITHIN MANCHERIAL MUNCIPAL LIMITS NOT ON NH	MANCHERIAL	REGULAR	150	OPEN	DC	20	20	400 400	32	55	DRAW OF LOTS	15	5
6	ON LHS, WITHIN 4 KM FROM BELLAMPALLI CHOWRASTA, MANCHERIAL TOWARDS ON 100 FEET ROAD-CHUNNAMBATTI NAGAR, MANCHERIAL MUNCIPAL LIMITS	MANCHERIAL MANCHERIAL	REGULAR REGULAR	150 110	OPEN OBC	CC DC	20 20	20	400	32 32	12 55	BIDDING DRAW OF LOTS	30 15	5
-	ON RHS, WITHIN 3KM FROM SRI SANTH SEVALAL MAHARAJ CHOWK, BHAINSA TOWARDS													
7	NIRMAL ON NH	NIRMAL	REGULAR	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
8	ON RHS, FROM INDARAM TO GODAVARI BRIDGE ON SH.	MANCHERIAL	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
9	WITHIN ADILABAD MUNCIPAL LIMITS NOT ON NH NOT ON ADILABAD-NAGPUR ROAD	ADILABAD	REGULAR		OPEN	CC	20	20	400	32	12	BIDDING	30	5
10 11	WITHIN NASPUR MUNCIPAL LIMTS NOT ON NH	MANCHERIAL MANCHERIAL	REGULAR REGULAR		OBC OPEN	CC DC	20	20	400	32 32	12 95	BIDDING DRAW OF LOTS	30 15	4 5
12	FROM GANDHARI MAISAMMA TEMPLE TO CALVARY CHURCH, BELLAMPALLI ON NH ON RHS, WITHIN 6 KM FROM ROLMANDA TOLL PLAZA TOWARDS ICHODA ON NH	ADILABAD	REGULAR	150 150	SC	CFS	35 35	35 35	1225 1225	0	0	DRAW OF LOTS	0	3
13	ON LHS, WITHIN 5 KM FROM UTHKOOR CHOURASTA, LUXETTIPET TOWARDS MANCHERIAL ON	MANCHERIAL	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
14	WITHIN BHUPALAPALLI MUNICIPAL LIMITS	JAYASHANKAR BHUPALPALLY	REGULAR	150	OPEN CC 1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
15	ON LHS, FROM BOATH X ROAD TO MANNUR ON NH	ADILABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
16	FROM GURRALAGONDI VILLAGE TO MALLYAL VILLAGE(CHINNAKODUR MANDAL), ON NH	SIDDIPET	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
17	FROM MEDIPALLI VILLAGE TO MOHANRAO PET (KORUTLA MANDAL) ON NH63	JAGITIAL	REGULAR	150	OBC	CC	35	35	1225	32	12	BIDDING	30	4
18	ON RHS, WITHIN 3KM FROM MANCHERIAL CHOWRASTA, NIRMAL TOWARDS MANCHERIAL ON	NIRMAL	REGULAR	150	OPEN	CC	30	30	900	32	12	BIDDING	30	5
19	FROM NH63/NH363 JUNCTION TO GANDHARI MAISAMMA TEMPLE, MANCHERIAL ON NH	MANCHERIAL	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
20	ON LHS, WITHIN 8 KM FROM SAI BABA TEMPLE, DEGAON(DAHEGAON, BHAINSA MANDAL) TOWARDS BASAR ON NH	NIRMAL	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
21	WITHIN RAMAGUNDAM MUNCIPAL LIMITS NOT ON SH	PEDDAPALLI	REGULAR	105	OBC	DC	20	20	500	32	75	DRAW OF LOTS	15	4
22	MEDARI BASTI ROAD TO LB NAGAR ROAD,RAMAGUNDAM MUNCIPAL LIMITS	JAGITIAL	REGULAR	150	OPEN	CC	20	20	500	32	12	BIDDING	30	5
23	WITHIN 1 KM OF NAGASAMUDRALA CROSS ROAD ON HUSNABAD- SIDDIPET ROAD	SIDDIPET	REGULAR	150	OPEN CC 2	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
24 25	TEKMAL VILLAGE ON SH	MEDAK MEDAK	REGULAR REGULAR	110 150	OBC CC 1 SC CC 1	DC CFS	30 35	30 35	900 1225	32 0	75 0	DRAW OF LOTS DRAW OF LOTS	15 0	4
26	WITHIN NARSAPUR TOWN LIMITS ON NH FROM SIRI FUNCTION HALL TO ADDAGUNTAPALLI CHOWRASTA WITH IN RAMAGUNDAM MUNCIPAL LIMITS	PEDDAPALLI	REGULAR	105	OPEN	CC	25	25	625	32	12	BIDDING	30	5
27	WITHIN KORATLA MUNCIPAL LIMITS NOT ON NH	JAGITIAL	REGULAR	110	OPEN	DC	20	20	500	32	55	DRAW OF LOTS	15	5
28	WITHIN JAKKAPUR VILLAGE LIMITS ON NH	SIDDIPET	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
29	WITH IN 3KM FROM PENCHIKAL PET X ROAD (TOWARDS GODVARIKHANI) ON POTHANA COLONY TO GODAVARIKHANI ROAD.	PEDDAPALLI	REGULAR	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
30	WITHIN METPALLY MUNCIPAL LIMITS NOT ON NH	JAGITIAL	REGULAR	105	OPEN	DC	20	20	500	32	55	DRAW OF LOTS	15	5
31	WITHIN JAGTIAL MUNCIPAL LIMITS ON RAJEEV BYPASS ROAD (DHARMAPUTI BYPASS ROAD),NOT ON NH	JAGITIAL	REGULAR	150	OPEN	CC	20	20	400	32	12	BIDDING	30	5
32	WITHIN KOWDIPALLY VILLAGE LIMITS ON NH	MEDAK	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
33	WITHIN 2 KM FROM TSRTC BUS DEPOT CIRCLE, METPALLY TOWARDS VEMPET	JAGITIAL	REGULAR	100	OPEN	CC	20	20	400	32	12	BIDDING	30	5
34 35	WITHIN YELLAREDDY MUNICIPAL LIMIT ON SH ON LHS, FROM BHOOPATHIPUR X ROAD TO NARSAIAHPALLY VILLAGE ON SH	KAMAREDDY PEDDAPALLI	REGULAR REGULAR	150 150	ST OPEN	CFS DC	30 30	30 30	900 900	0 32	0 75	DRAW OF LOTS DRAW OF LOTS	0 15	3 5
36	FROM BODMATPALLY TO MUSLAPUR ON NH	MEDAK	REGULAR	150	OBC	CC	35	35	1225	32	12	BIDDING	30	4
37	FROM INDALWAI TO ARGUL ON NH	NIZAMABAD	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
38	WITHIN PAPPANPET VILLAGE LIMITS ON MEDAK ROAD	MEDAK	REGULAR	120	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
39	FROM RAGUDU JUNCTION TO VENKATAPUR ON SIRCILLA TO VENKATPUR BYPASS ROAD	RAJANNA SIRCILLA	REGULAR	140	OBC	DC	20	20	500	32	55	DRAW OF LOTS	15	4
40	ON LHS, KALLAKAL VILLAGE TOWARDS HYDERABAD, ON NH	MEDAK	REGULAR	240	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
41	VENKATAPUR(KATTELA) VILLAGE ON NH	MEDAK	REGULAR	160	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
42	FROM YELLAREDDYPET TO VENKATAPUR ON SH	RAJANNA SIRCILLA	REGULAR	110	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
43	FROM BHIKNOOR TO SADASHIVNAGAR ON NH	KAMAREDDY SIDDIPET	REGULAR REGULAR	150 150	ST OPEN	CFS CC	35 30	35 30	1225 900	0 32	0 12	DRAW OF LOTS BIDDING	30	3 5
44	ON LHS TOWARDS HYDERABAD WITHIN MULUGU VILLAGE LIMITS ON SH ON LHS, FROM DUDDEDDA VILLAGE TO PONALLA CROSS ROAD JUNCTION, ON SH	SIDDIPET	REGULAR	110	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
46	WITHIN 1 KM FROM GAIWEL POLICE STATION , ON MUDIRAJAPALLY ROAD	SIDDIPET	REGULAR	100	OBC	CC	30	30	900	32	12	BIDDING	30	4
47	KULCHARAM VILLAGE ON NH	MEDAK	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
48	WITHIN HABSIPUR VILLAGE LIMITS ON NH	SIDDIPET	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
49	ON LHS, FROM MANIKBHANDAR TO ANKAPUR VILLAGE, ON NH	NIZAMABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
50	WITHIN TOOPRAN MUNICIPAL LIMITS ON OLD NH (TOOPRAN MAIN ROAD)	MEDAK	REGULAR	150	OBC PH	DC	20	20	500	32	55	DRAW OF LOTS	15	4
51	WITHIN 3 KM FROM NTR CHOWK ADILABAD TOWARDS ANUKUNTA ON ANUKUNTA ROAD.	ADILABAD	REGULAR	120	ST PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
52 53	ON LHS,FROM DURKI VILLAGE TO NASRULLABAD VILLAGE, ON NH	KAMAREDDY NIZAMABAD	REGULAR REGULAR	175 145	OPEN OPEN	CC	35	35 20	1225 400	32 32	12 12	BIDDING	30 30	5
53	WITH IN NIZAMABAD MUNICIPAL LIMITS	NIZAWADAU	KEGULAK	145	UPEN	LL	20	20	400	32	12	טאוועטופ	30	Т э

54	WITHIN MUSTHIYALA VILLAGE LIMITS, CHERIAL MANDAL ON NH	SIDDIPET	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
55	WITH IN KAMAREDDY MUNICIPAL LIMITS	KAMAREDDY	REGULAR	150	OPEN	CC	20	20	400	32	12	BIDDING	30	5
56	WITHIN 4 KMS FROM KAMAREDDY BUS STATION, ON OLD NH ROAD	KAMAREDDY	REGULAR	140	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
57	WITH IN 2 KM FROM PITLAM BUS STAND , TOWARDS BANSWADA NOT ON NH	KAMAREDDY	REGULAR	170	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
58	FROM PONALLA CROSS ROAD JUNCTION TO LINGAREDDYPALLI JUNCTION ON SH	SIDDIPET	REGULAR	145	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
59		KAMAREDDY	REGULAR	120	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
	WITHIN 2 KM FROM GANDHARI BUS STATION TOWARDS BANSWADA												15	
60	ON LHS FROM CHANDRAMPET CROSS ROAD TO DISTRICT HOSPITAL, SIRCILLA ON SH	RAJANNA SIRCILLA	REGULAR	140	SC	CFS	24	24	576	0	0	DRAW OF LOTS	0	3
61	FROM SIDDIPET BUS STAND TO SIDDIPET RURAL POLICE STATION ON RAMAYANPET ROAD	SIDDIPET	REGULAR	150	OBC	DC	30	30	900	32	95	DRAW OF LOTS	15	4
62		NIZAMARAD	REGULAR	120	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
	JANKAMPET VILLAGE ON MAIN ROAD , MANDAL NIZAMABAD.	***************************************			4. 4									
63	WITHIN 3 KMS FROM KAMAREDDY RAILWAY STATION, TOWARDS MACHAREDDY	KAMAREDDY	REGULAR	135	OPEN CC 1	DC	30	30	900	32	55	DRAW OF LOTS	15	5
64	ON LHS, FROM 13TH BATTALION TSSP, GUDIPET POLICE CAMP TO DONABANDA ON NH	MANCHERIAL	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
·	FROM RAMNAGAR TO SHREE MAHA RENUKA YELLAMA DEVALAYAM ON RAM NAGAR CIRCLE													†
65		SIDDIPET	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
	ROAD, SIDDIPET													
66	ARSAPALLE, ON NH	NIZAMABAD	REGULAR	170	OPEN	CC	30	30	900	32	12	BIDDING	30	5
67	FROM FHATLAPUR VILLAGE TO PITLAM, ON NH	KAMAREDDY	REGULAR	160	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
· · · · · · · · · · · · · · · · · · ·		10 1177 1112001	TIEGOE/III	100	0. 2.1			- 55	1223			DIDDING	50	+ -
68	FROM SADASIVNAGAR TO LINGAMPALLY VILLAGE , SADASIVNAGAR MANDAL, ON GANDHARI X	KAMAREDDY	REGULAR	155	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
	ROAD TOWARDS GANDHARI VILLAGE, NOT ON NH				050									1
69	ON LHS, FROM INDRAVELLY POLICE STATION TO DHANORA ON SH	ADILABAD	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
70		NIZAMABAD	REGULAR	130	OPEN	DC	20	25	500	32	55	DRAW OF LOTS	15	5
70	WITHIN 4 KM FROM AMBEDKAR CHAWRASTA BODHAN, TOWARDS NANDED	NIZAMABAU	REGULAR	130	OPEN	DC	20	25	500	32	33	DRAW OF LOTS	15	3
71	WITH IN 4 KM FROM DICHPALLY RAILWAY STATION , ON NIZAMABAD TO MITTAPALLE VILLAGE	NIZAMABAD	REGULAR	130	OPEN	CC	25	25	625	32	12	BIDDING	30	5
/1	ROAD	NIZAWABAD	REGULAR	130	OFEN	CC	23	23	023	32	12	BIDDING	30	, ,
72	WITH IN 5 KM FROM JEEVADAN HIGH SCHOOL KAMAREDDY, TOWARDS TADWAI	KAMAREDDY	REGULAR	160	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
73	WITH IN BODHAN MUNICIPAL LIMITS	NIZAMABAD	REGULAR	140	OBC CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	4
74	WITHIN 5 KMS FROM PEDDAPALLI KAMAN JUNCTION TOWARDS GODAVARIKHNI ON SH	PEDDAPALLI	REGULAR	110	ST CC 1	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
75	FROM NH63/NH363 JUNCTION TO IB CHOURASTA, MANCHERIAL ON NH63	MANCHERIAL	REGULAR	150	OPEN PH	DC	30	30	900	32	95	DRAW OF LOTS	15	5
76	NADEPALLE VILLAGE ON MAIN ROAD, NOT ON NH	NIZAMABAD	REGULAR	120	OBC	DC	25	25	625	32	55	DRAW OF LOTS	15	4
77	FROM PHULONG CHOURASTHA TO MALLARAM VILLAGE, ON NIZAMABAD TO VARNI ROAD	NIZAMABAD	REGULAR	155	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
	WITH IN 3 KM FROM INDUR HIGH SCHOOL ACHAMPALLE , TOWARDS SATAPUR VILLAGE,													
78		NIZAMABAD	REGULAR	150	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
	BODHAN MANDAL			1							1			\bot
79	FROM MAMIDIPALLY TO DOODGAON ON NH.	NIZAMABAD	REGULAR	155	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
80	WITHIN 2 KM FROM BRINDAVAN THEATER, ARMOOR TOWARDS NIZAMABAD ON NH	NIZAMABAD	REGULAR	150	OBC	CC	30	30	900	32	12	BIDDING	30	4
		NIZAMABAD	REGULAR	155	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
81	FROM RTC BODHAN BUS DEPOT TO YEDAPALLY VILLAGE, ON NH	NIZAMABAU	REGULAR	155	OPEN	DC	33	33	1225	32	95	DRAW OF LOTS	15	3
82	WITHIN MANCHERIAL MUNCIPAL LIMITS FROM IB CHOWRASTA TO BELLAMPALLI CHOWRASTA	MANCHERIAL	REGULAR	120	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
82	ON MAIN ROAD	WANCHERIAL	REGULAR	120	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	2
83	WITHIN 2 KM FROM ITDA. UTNOOR TOWARDS ADII ABAD ON UTNOOR ADII ABAD ROAD	ADII ABAD	REGULAR	130	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
					Ţ.								_	-
84	FROM LAKHORA VILLAGE TO ANKSAPUR VILLAGE, ON NH	NIZAMABAD	REGULAR	150	OBC	CC	35	35	1225	32	12	BIDDING	30	4
85	ON LHS, WITHIN 3KM FROM JAGTIAL NEW BUSTAND CIRCLE TOWARDS KORUTLA ON NH	JAGITIAL	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
86	WITHIN NANAKRAMGUDA LIMITS	RANGA REDDY	REGULAR	400	OPEN CC 1	DC	25	25	700	32	75	DRAW OF LOTS	15	5
		MEDAK	REGULAR	110		CES		30	900			DRAW OF LOTS		
87	BODMATPALLY VILLAGE ON SH				SC		30			0	0		0	3
88	FROM YELLAREDDY TO BURGUL ON NH	KAMAREDDY	REGULAR	155	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
89	FROM MEDAK OLD BUS STAND TO DHYAN CHAND SQUARE, ON MAIN ROAD, MEDAK	MEDAK	REGULAR	105	OPEN	DC	20	20	500	32	55	DRAW OF LOTS	15	5
90	ON LHS, FROM RAGUDU JUNCTION TO MANAIR RIVER BRIDGE, ON SIRCILLA BYPASS	RAJANNA SIRCILLA	REGULAR	120	OPEN	DC	20	20	500	32	55	DRAW OF LOTS	15	5
91	WITH IN ARMOOR MUNICIPAL LIMITS	NIZAMABAD	REGULAR	150	OBC	DC	20	20	500	32	55	DRAW OF LOTS	15	4
92	WITHIN 4 KMS FORM CHATRAPATI SHIVAJI MAHARAJ CHOWK, TOWADS NYALKAL VILLAGE	NIZAMABAD	REGULAR	120	SC	CFS	25	25	625	0	0	DRAW OF LOTS	n	3
93		SIDDIPET	REGULAR	110	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
	ON LHS FROM KUKNORPALLY TO RIMMANAGUDA ON SH													
94	ON LHS, FROM BLOCK OFFICE CROSS ROAD JUNCTION TO PONNALA CROSS JUNCTION,	SIDDIPET	REGULAR	110	OPEN	DC	20	20	500	32	55	DRAW OF LOTS	15	5
95	ON RHS, WITHIN 2KM FROM MANCHERIAL CHOURASTA, NIRMAL TOWARDS KADTHAL NOT ON	NIRMAL	REGULAR	120	OBC	DC	20	20	500	32	55	DRAW OF LOTS	15	4
96	FROM CHIMRAJPALLE VILLAGE TO JANNIPALLE VILLAGE, ON NANDIPET TO POTHANGAL ROAD	NIZAMABAD	REGULAR	120	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
97	WITHIN RAMAYANPET MUNICIPAL LIMITS NOT ON NH	MEDAK	REGULAR	110	OPEN	DC	20	20	500	32	55	DRAW OF LOTS	15	5
98	FROM YELLAREDDYPET TO GORANTIAL ON SH	RAJANNA SIRCILLA	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
99	FROM GALIPUR VILLAGE TO BANSWADA ON NH	KAMAREDDY	REGULAR	175	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
100	FROM DISTRICT HOSPITAL , SIRCILLA TO MANAIR RIVER BRIDGE ON SIRCILLA SIDDIPET ROAD	RAJANNA SIRCILLA	REGULAR	120	SC	CFS	20	20	500	0	0	DRAW OF LOTS	0	3
101	WITHIN JAGADEVPUR VILLAGE LIMITS ON MAIN ROAD	SIDDIPET	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
	FROM BANSWADA RTC BUS DEPOT TO KOLLUR VILLAGE, BANSWADA MANDAL , ON				1			l .				1	1	
102	BANSWADA TO BIRKUR ROAD.	KAMAREDDY	REGULAR	110	OBC	DC	25	25	625	32	55	DRAW OF LOTS	15	4
-			1	1	1		ļ	ļ			1	1	ļ	+
103	FROM UPPER PRIMARY SCHOOL, LINGAREDDYPALLY TO RANGANAYAKA SAGAR DAM CROSS	SIDDIPET	REGULAR	110	OPEN	DC	20	20	500	32	55	DRAW OF LOTS	15	5
103	ROAD, SIDDIPET TOWN ON CHINNAKODUR ROAD	SIDDIFEI	REGULAR	110	OFEN	DC	20	20	300	34	33	DRAW OF LOTS	1.5	,
104	FROM DISTRICT HOSPITAL CIRCLE TO SRRS POLYTECHNIC COLLEGE , RAJANNA SIRCILLA ON SH	RAIANNA SIRCILI A	REGULAR	120	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
105	WITHIN MANTHANI MUNCIPAL LIMITS	PEDDAPALLI	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
106	NERELLA VILLAGE ON NH, DHARMAPURI MANDAL	JAGITIAL	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
107	WITHIN 2 KMS FROM GEETA BHAVAN CIRCLE TOWARDS VEMULAWADA ON EITHER SIDES	KARIMNAGAR	REGULAR	150	OPEN	CC	20	20	400	32	12	BIDDING	30	5
		KARIMNAGAR												
108	WITHIN KARIMNAGAR MUNICIPAL LIMITS	KAKIIVINAGAK	REGULAR	150	OPEN	CC	20	20	400	32	12	BIDDING	30	5
109	FROM MANCHERIAL CIRCLE, KARIMNAGAR TOWN TO SRM INSTITUTE OF MEDICAL SCIENCE	KARIMNAGAR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
109	AND TECHNOLOGY VIA APOLLO REACH HOSPITALS	KARIIVINAGAR	KEGULAK	120	SC.	CFS	35	33	1225	U	U	DRAW OF LOTS	U U	3
110		YADADRI BHUVANAGIRI	REGULAR	150	OBC	CC	35	35	1225	32	12	BIDDING	30	4
	BETWEEN KM STONE 54 AND KM STONE 60 ON NH 163 LHS (FROM HYDERABAD TO													
111	WITHIN JAMMIKUNTA MUNICIPAL LIMITS	KARIMNAGAR	REGULAR	150	OPEN	CC	20	20	400	32	12	BIDDING	30	5
	ON NH365, WITHIN 3 KM FROM KAMBALAPALLI POST OFFICE TOWARD NARSAMPET ON EITHER			1			1				1			
112	SIDE SIDE	MAHABUBABAD	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
	SIDE			1	l		 				1			+
113	FROM GUNDRAMPALLY VILLAGE TO VELIMINEDU VILLAGE ON NH65, LHS TOWRADS	NALGONDA	REGULAR	150	OBC	CC	35	35	1225	32	12	BIDDING	30	4
114	BETWEEN KM STONE 132 AND KM STONE 136 ON NH167 LHS (MIRYALAGUDA TO	NALGONDA	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
115	ON EITHER SIDE OF CHANDANAPALLY VILLAGE ON NH 565 , ON NALGONDA-NAKREKAL ROAD	NALGONDA	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
116	WITHIN 2 KM FROM NAKREKAL JUNCTION TOWARDS THATIKAL - NALGONDA ROAD	NALGONDA	REGULAR	100	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
447	FROM RAMALINGADUGUDEM VILLAGE TO JANGAMREDDYGUDEM VILLAGE ON SH2 , LHS	NALCONDA	DEC. 11	400	one	D.C.	25	25	4225	22		DD 1111 OF 1 C==	45	1 . 7
117	TOWRADS TIPPARTHY	NALGONDA	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
118		MILLION	REGULAR	150	- c-	CES	25	25	4225	^	-	DRAW OF LOTS	_	+ -
	AKULAVARI GHANPUR VILLAGE ON NH-163	MULUGU		150	ST		35	35	1225	0	0		0	3
119	BETWEEN KM STONE 82 AND 84 ON NH 65 , LHS TOWARDS HYDERABAD	NALGONDA	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
120	BETWEEN KM STONE 109 AND KM STONE 111 ON NH65,LHS TOWARDS VIJAYAWADA	NALGONDA	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
														لسنسا

121														
	WITHIN MUNICIPAL LIMITS-KODAD TOWN	SURYAPET	REGULAR	100	OBC	DC	22	22	484	32	55	DRAW OF LOTS	15	4
122	FROM DHARMOJIGUDEM VILLAGE TO LAKKARAM VILLAGE ON NH 65, LHS TOWARDS	YADADRI BHUVANAGIRI	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
422	WITHIN 3 KM FROM BOMMANAPALLI VILLAGE TOWARDS PALVANCHA ON YELLANDU -	DUADDADDI KOTUA GUDEAA	DECLUAR.	450					4225			DD 1111 OF 1 OF 5		,
123	PALVANCHA ROAD	BHADRADRI KOTHAGUDEM	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
124	WITHIN 3 KM FROM ASHWARAOPET JUNCTION TOWARDS KHAMMAM ON NEW NH-365BB	BHADRADRI KOTHAGUDEM	REGULAR	160	OPEN CC 2	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
125	BETWEEN KM STONE 1 AND KM STONE 3 ON NH365A(KODAD TO KHAMMAM)	SURYAPET	REGULAR	150	OBC CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
126	ON SH 2 BETWEEN KM STONE 16 TO KM STONE 18 TOWARDS NARKETPALLI, ON LHS	NALGONDA	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
127	BETWEEN KM STONE 18 AND KM STONE 22 ON NH365BB(FROM SURYAPET TO KHAMMAM)	SURYAPET	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	13	3
128	BETWEEN KM STONE 54 AND KM STONE 57 ON SH2 LHS(FROM NARKETPALLI TO ADDANKI)	NALGONDA	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
129	ON EITHER SIDE OF SH19 VINJAMOOR VILLAGE , CHINTAPALLY MANDAL	NALGONDA	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
130	WITHIN 6 KM FROM NH65 UNDERPASS AT SURYAPET BUS STAND, ON SURYAPET - KUDA KUDA	SURYAPET	REGULAR	100	OPEN	DC	24	24	576	32	55	DRAW OF LOTS	15	5
130	ROAD	3011711 21	HEGGERAL	100	0. 2.1	50			370	32	33	DIGITY OF EOTS		,
121	ON NH563, WITHIN 2 KMS FROM KOTHULANADUAMA GOVERNMENT SCHOOL TOWARDS	HANUMAKONDA	REGULAR	150	OBC	СС	25	25	1225	32	12	BIDDING	1 20	4
131	HUZURABAD ON LHS	HANUWAKUNDA	REGULAR	150	OBC	CC.	35	35	1225	32	12	BIDDING	30	4
	BETWEEN KM STONE 11 AND KM STONE 12 ON NH 163 ON RHS (ETURNAGARAM TO													
132	BHOPALAPATNAM)	MULUGU	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	MIRYALAGUDA TOWN (RAJIV GANDHI CIRCLE TO FOUNTAIN JUNCTION ON MIRYALAGUDA -													
133	NALGONDA ROAD)	NALGONDA	REGULAR	100	OPEN	DC	24	24	576	32	55	DRAW OF LOTS	15	5
134		SURYAPET	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
	BETWEEN KM STONE 182 AND KM STONE 190 ON NH65 LHS (FROM VIJAYAWADA TO								1225					
135	ON NH563, FROM YELLAPUR CROSS ROADS TO ERRAGATTUGUTTA ON LHS	HANUMAKONDA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
136	BETWEEN KM STONE 141 AND KM STONE 150 ON NH65 LHS (FROM VIJAYAWADA TO	SURYAPET	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
137	BETWEEN KM STONE 225 AND KM STONE 229 ON NH167 RHS (KODAD TO MIRYALAGUDA)	SURYAPET	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
138	RUKMAPUR VILLAGE CHOPPADANDI MANDAL ON SH7	KARIMNAGAR	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
139	ON VEMULAWADA BYPASS ROAD, FROM NTR STATUE TO MANAIR HIGH SCHOOL, ON EITHER	KARIMNAGAR	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
140	KHAMMAM-WITHIN 5 KM FROM SRI SRI CIRCLE TOWARDS WYRA ON NH-365BB	KHAMMAM	REGULAR	180	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
141	BETWEEN KM STONE 148 AND KM STONE 152 ON NH167 (MIRYALAGUDA TO DEVARAKONDA)	NALGONDA	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
142	BETWEEN KM STONE 0 AND KM STONE 5 ON NH365BB LHS (FROM SURYAPET TO KHAMMAM)	SURYAPET	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
							1			-	-			
143	FROM VENKATAGIRI CROSS ROAD TO NELAKONDAPALLY CROSS ROAD ON NEW NH-365A	KHAMMAM	REGULAR	150	OBC	CC	40	40	1600	32	12	BIDDING	30	4
	TOWARDS KODAD													
144	WITHIN MUNICIPAL LIMITS-HUZURNAGAR TOWN	SURYAPET	REGULAR	100	OPEN	DC	22	22	484	32	55	DRAW OF LOTS	15	5
145	ON NH 563, WITHIN 2 KM FROM MARIPEDA BUS STATION TOWARDS WARANGAL ON EITHER	MAHABUBABAD	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
146	ON NH365B, WITHIN 3 KMS FROM JANGAON BUS STATION TOWARDS SURYAPET ON LHS	JANGAON	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
147	ON NH 163. WITHIN 4 KM FROM ATMAKUR POLICE STATION TOWARDS MULUGU ON EITHER	WARANGAL	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
148	ON NH365B, WITHIN 3 KMS FROM JANGAON BUS STATION TOWARDS BACHANAPET ON LHS	JANGAON	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
149	FROM SATYANARAYANAPURAM VILLAGE TO KALIVERU VILLAGE ON SH-12	BHADRADRI KOTHAGUDEM	REGULAR	180	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
150	KALESHWARAM VILLAGE ON NH 353 C	JAYASHANKAR BHUPALPALLY	REGULAR	150	OBC PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
			REGULAR			DC								
151	WITHIN GADI PEDDAPUR VILLAGE, ALLADURG MANDAL, ON NH	MEDAK HANUMAKONDA	REGULAR REGULAR	160	OPEN		35	35	1225 484	32	95	DRAW OF LOTS	15	5
152	FROM FATIMA JUNCTION TO ADALAT CIRCLE ON LHS IN HANAMKONDA			150	OPEN	CC	22	22		32	12	BIDDING	30	5
153	ON NH563, FROM ELAKATHURTHY CROSS ROADS TOWARS YELLAPUR CROSS ROADS ON LHS	HANUMAKONDA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
154	ON RHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH-	KHAMMAM	REGULAR	160	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
154	365BB TOWARDS SURYAPET	KIIAIVIAIVI	REGOLAR	100	30	CIS	40	40	1000	Ů	Ů	DIAW OF LOTS		,
	ON FITHER CIDE. WITHIN A WAS ERONA VEH AND LI POLICE CTATION ON WOTHAGUESA								625	32				
100	ON EITHER SIDE, WITHIN 3 KM FROM YELLANDU POLICE STATION ON KOTHAGUDEM -	BUADDADDI KOTUACUDEM	DECLUAD	100	00581	D.C	25		025				15	-
155	ON EITHER SIDE, WITHIN 3 KM FROM YELLANDU POLICE STATION ON KOTHAGUDEM - MAHABUBABAD ROAD	BHADRADRI KOTHAGUDEM	REGULAR	160	OPEN	DC	25	25		32	55	DRAW OF LOTS	15	5
	MAHABUBABAD ROAD				-				484				15 15	
156	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS	HANUMAKONDA	REGULAR	150	OPEN	DC	22	22		32	75	DRAW OF LOTS	15	5
156 157	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL	HANUMAKONDA WARANGAL	REGULAR REGULAR	150 150	OPEN OBC	DC DC	22 35	22 35	1225	32 32	75 95	DRAW OF LOTS DRAW OF LOTS	15 15	5
156	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A.	HANUMAKONDA	REGULAR	150	OPEN	DC	22	22		32	75	DRAW OF LOTS	15	5
156 157 158	MAHABUBABAD ROAD HANAMIKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD (ROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH	HANUMAKONDA WARANGAL	REGULAR REGULAR	150 150	OPEN OBC	DC DC CFS	22 35	22 35 35	1225	32 32	75 95	DRAW OF LOTS DRAW OF LOTS	15 15	5 4 3
156 157 158 159	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GIUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR	REGULAR REGULAR REGULAR	150 150 200 150	OPEN OBC ST OPEN	DC DC CFS DC	22 35 35 20	22 35 35 20	1225 1225 400	32 32 0 32	75 95 0 55	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	15 15 0 15	5 4 3 5
156 157 158	MAHABUBABAD ROAD HANAMIKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD (ROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH	HANUMAKONDA WARANGAL KHAMMAM	REGULAR REGULAR REGULAR	150 150 200	OPEN OBC ST	DC DC CFS	22 35 35	22 35 35	1225 1225	32 32 0	75 95 0	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	15 15 0	5 4 3
156 157 158 159 160	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GIUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR	REGULAR REGULAR REGULAR REGULAR REGULAR	150 150 200 150 150	OPEN OBC ST OPEN OPEN	DC DC CFS DC CC	22 35 35 35 20 20	22 35 35 20 20	1225 1225 400 400	32 32 0 32 32	75 95 0 55	DRAW OF LOTS BIDDING	15 15 0 15 30	5 4 3 5
156 157 158 159	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR	REGULAR REGULAR REGULAR	150 150 200 150	OPEN OBC ST OPEN	DC DC CFS DC	22 35 35 20	22 35 35 20	1225 1225 400	32 32 0 32	75 95 0 55	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	15 15 0 15	5 4 3 5
156 157 158 159 160	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH-	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR	REGULAR REGULAR REGULAR REGULAR REGULAR	150 150 200 150 150	OPEN OBC ST OPEN OPEN	DC DC CFS DC CC	22 35 35 35 20 20	22 35 35 20 20	1225 1225 400 400	32 32 0 32 32	75 95 0 55	DRAW OF LOTS BIDDING	15 15 0 15 30	5 4 3 5
156 157 158 159 160	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMNAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS MULUGU ON LHS	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KARIMNAGAR	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	150 150 200 150 150 150	OPEN OBC ST OPEN OPEN OPEN	DC DC CFS DC CC CC	22 35 35 20 20 40	22 35 35 20 20 40	1225 1225 400 400 1600	32 32 0 32 32 32	75 95 0 55 12	DRAW OF LOTS BIDDING BIDDING	15 15 0 15 30 30	5 4 3 5 5
156 157 158 159 160 161 162 163	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 3658B TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS MULUGU ON LHS RAYAPATNAM VILLAGE OM MADHIRA ROAD	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	150 150 200 150 150 180 150	OPEN OBC ST OPEN OPEN OPEN OPEN OSC SC	DC DC CFS DC CC CC CC CC CFS	22 35 35 20 20 40 35 30	22 35 35 20 20 40 35 30	1225 1225 400 400 1600 1225 900	32 32 0 32 32 32 32 32 0	75 95 0 55 12 12 95 0	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	15 15 0 15 30 30 15 0	5 4 3 5 5 5 4 3
156 157 158 159 160 161	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL Y PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 3658B TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS MULUGU ON LHS RAYAPATNAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL	REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR REGULAR	150 150 200 150 150 180	OPEN OBC ST OPEN OPEN OPEN OPEN OBC	DC DC CFS DC CC CC CC	22 35 35 20 20 40 35	22 35 35 20 20 40	1225 1225 400 400 1600 1225	32 32 0 32 32 32 32 32	75 95 0 55 12 12	DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS	15 15 0 15 30 30 15	5 4 3 5 5 5
156 157 158 159 160 161 162 163	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS MULUGU ON LHS RAYAPATNAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA TO JUNIC MIRCLY EM. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VUNYAPURI NORTH)	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA	REGULAR	150 150 200 150 150 180 150 150 100	OPEN OBC ST OPEN OPEN OPEN OPEN SC OPEN CC 1	DC DC CFS DC CC CC CC DC CFS DC	22 35 35 20 20 40 35 30 35	22 35 35 20 20 40 35 30 35	1225 1225 400 400 1600 1225 900	32 32 0 32 32 32 32 0	75 95 0 55 12 12 12 95 0	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS	15 15 0 15 30 30 15 0	5 4 3 5 5 5 4 3 5
156 157 158 159 160 161 162 163 164	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GIUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS MULUGU ON LHS RAYAPATHAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA Y JUNCTION TO DIVINE MERCY E M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VULAYAPURI NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 81 (HYDERABAD TO BHUPALPATNAM)	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA JANGAON	REGULAR	150 150 200 150 150 180 150 150 150	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC	DC DC CFS DC CFS DC DC CFS DC	22 35 35 20 20 40 35 30 35	22 35 35 20 20 40 35 30 35	1225 1225 400 400 1600 1225 900 1225	32 32 0 32 32 32 32 32 32 32 32	75 95 0 55 12 12 12 95 0	DRAW OF LOTS BIDDING BIDDING BIDDING DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	15 15 0 15 30 30 15 0 15	5 4 3 5 5 5 4 3 5
156 157 158 159 160 161 162 163	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CRICLE TOWARDS GODAVARIKHANI SYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS MULUGU ON LHS RAYAPATNAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOGRA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOGRA TO VIJAYAPURI NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 83 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA	REGULAR	150 150 200 150 150 180 150 150 100	OPEN OBC ST OPEN OPEN OPEN OPEN SC OPEN CC 1	DC DC CFS DC CC CC CC DC CFS DC	22 35 35 20 20 40 35 30 35	22 35 35 20 20 40 35 30 35	1225 1225 400 400 1600 1225 900	32 32 0 32 32 32 32 0	75 95 0 55 12 12 12 95 0	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS	15 15 0 15 30 30 15 0	5 4 3 5 5 5 4 3 5
156 157 158 159 160 161 162 163 164	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-355A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 3658B TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROAD TO WARDS MULUGU ON LHS RAYAPATNAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VIJNAYPUR INDRTI) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 81 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN 2 KM FROM JAGANNADHAPURKAM VILLAGE ON PALWANCHA -	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA JANGAON WARANGAL	REGULAR	150 150 200 150 150 180 150 150 150	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC	DC DC CFS DC CFS DC DC CFS DC	22 35 35 20 20 40 35 30 35	22 35 35 20 20 40 35 30 35	1225 1225 400 400 1600 1225 900 1225	32 32 0 32 32 32 32 32 32 32 32	75 95 0 55 12 12 12 95 0	DRAW OF LOTS BIDDING BIDDING BIDDING DRAW OF LOTS	15 15 0 15 30 30 15 0 15	5 4 3 5 5 5 4 3 5
156 157 158 159 160 161 162 163 164 165 166	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GIUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURYAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS MULUGU ON LHS RAYAPATHAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VIJAYAPURI NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 81 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN 2 KM FROM JAGANNADHAPURAM VILLAGE ON PALWANCHA - DAMMAPET ROAD	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA JIANGAON WARANGAL BHADRADRI KOTHAGUDEM	REGULAR	150 150 200 150 150 150 150 150 150 150 150 150	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC OPEN ST	DC DC CFS DC DC CFS DC CFS DC CFS DC CFS	22 35 35 20 20 40 35 30 35 35 22 30	22 35 35 20 20 40 35 30 35 35 22 30	1225 1225 400 400 1600 1225 900 1225 1225 484 900	32 32 0 32 32 32 32 32 0 32 32 32 0	75 95 0 55 12 12 95 0 75 95 75	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS	15 15 0 15 30 30 15 0 15 15 0	5 4 3 5 5 5 4 3 5 4 3 5
156 157 158 159 160 161 162 163 164 165 166 167	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS MULUGU ON LHS RAYAPATNAM VILLAGE ON MADHIRA BOAD FROM PEDDAVOORA TO JUNCTION TO DVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VUNYAPURI NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 81 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN 2 KM FROM JAGANNADHAPURAM VILLAGE ON PALWANCHA - DAMMAPET ROAD ON NH 163, BETWEEN KM STONE 17 AND KM STONE 150 (HYDERABAD TO BHUPALPATNAM)	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA JANGAON WARANGAL BHADRADRI KOTHAGUDEM HANUMAKONDA	REGULAR	150 150 200 150 150 180 150 150 150 150 150 150	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC OPEN ST	DC	22 35 35 20 20 40 35 30 35 30 35 22 30	22 35 35 20 20 40 35 30 35 35 22 30	1225 1225 400 400 1600 1225 900 1225 1225 484 900	32 32 0 32 32 32 32 32 0 32 32 32 32 32 32	75 95 0 55 12 12 12 95 0 75 95 75	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS	15 15 0 15 30 30 15 0 15 0 15 0 15 0 30 30 30 15 0 30 30 30 30 30 30 30 30 30 30 30 30 3	5 4 3 5 5 5 4 3 5 4 5
156 157 158 159 160 161 162 163 164 165 166	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GIUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURYAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS MULUGU ON LHS RAYAPATHAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VIJAYAPURI NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 81 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN 2 KM FROM JAGANNADHAPURAM VILLAGE ON PALWANCHA - DAMMAPET ROAD	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA JIANGAON WARANGAL BHADRADRI KOTHAGUDEM	REGULAR	150 150 200 150 150 150 150 150 150 150 150 150	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC OPEN ST	DC DC CFS DC DC CFS DC CFS DC CFS DC CFS	22 35 35 20 20 40 35 30 35 35 22 30	22 35 35 20 20 40 35 30 35 35 22 30	1225 1225 400 400 1600 1225 900 1225 1225 484 900	32 32 0 32 32 32 32 32 0 32 32 32 0	75 95 0 55 12 12 95 0 75 95 75	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS	15 15 0 15 30 30 15 0 15 15 0	5 4 3 5 5 5 4 3 5 4 3 5
156 157 158 159 160 161 162 163 164 165 166 167	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS MULUGU ON LHS RAYAPATNAM VILLAGE ON MADHIRA BOAD FROM PEDDAVOORA TO JUNCTION TO DVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VUNYAPURI NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 81 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN 2 KM FROM JAGANNADHAPURAM VILLAGE ON PALWANCHA - DAMMAPET ROAD ON NH 163, BETWEEN KM STONE 17 AND KM STONE 150 (HYDERABAD TO BHUPALPATNAM)	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA JANGAON WARANGAL BHADRADRI KOTHAGUDEM HANUMAKONDA	REGULAR	150 150 200 150 150 180 150 150 150 150 150 150	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC OPEN ST	DC	22 35 35 20 20 40 35 30 35 30 35 22 30	22 35 35 20 20 40 35 30 35 35 22 30	1225 1225 400 400 1600 1225 900 1225 1225 484 900	32 32 0 32 32 32 32 32 0 32 32 32 32 32 32	75 95 0 55 12 12 12 95 0 75 95 75	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS	15 15 0 15 30 30 15 0 15 0 15 0 15	5 4 3 5 5 5 4 3 5 4 5
156 157 158 159 160 161 162 163 164 165 166 167 168 169 170	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GIUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURYAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS MULUGU ON LHS RAYAPATHAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VIJAYAPURI NORTH) ON NH 163, BETWEEN KM STONE TS AND KM STONE 31 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN Z KM FROM MAGNIRAM VILLAGE ON PALWANCHA - DAMMAPET ROAD ON NH 163, BETWEEN KM STONE 147 AND KM STONE 150 (HYDERABAD TO BHUPALPATNAM) WITHIN 2 KM FROM MAGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 147 AND KM STONE 138 (HYDERABAD TO BHUPALPATNAM) WITHIN 2 KM FROM MALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 137 AND KM STONE 138 (HYDERABAD TO BHUPALPATNAM)	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA JANGAON WARANGAL BHADRADRI KOTHAGUDEM HANUMAKONDA NALGONDA HANUMAKONDA	REGULAR	150 150 200 150 150 150 150 150 150 150 150 150 1	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC OPEN ST OPEN OBC OPEN OPEN OPEN OBC OPEN OPEN OBC	DC	22 35 35 20 20 40 35 30 35 35 32 22 30 35 35 35 35 35 35 35 35 35 35 35 35 35	22 35 35 20 20 40 35 30 35 32 22 30 35 35 35 35 35 35 35 35 36 37 37 38 38 38 38 38 38 38 38 38 38 38 38 38	1225 1225 400 400 1600 1225 900 1225 1225 484 900 1225 625	32 32 0 32 32 32 32 32 0 32 32 32 32 32 32 32 32	75 95 0 55 12 12 95 0 75 95 75 0	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS	15 15 0 15 30 30 15 15 0 15 0 15 15 15 15 15 15 15 15 15 15 15 15 15	5 4 3 5 5 5 4 3 5 4 5 5 4 5 5 5 4 5 5 5 4 5 5 4 5 5 6 7 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8
156 157 158 159 160 161 162 163 164 165 166 167 168 169 170	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 3658B TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROAD TO WARDS MULUGU ON LHS RAYAPATNAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VIJAVAPUR NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 81 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN 2 KM FROM JAGANNADHAPURAM VILLAGE ON PALWANCHA- DAMMAPET ROAD ON NH 163, BETWEEN KM STONE 71 AND KM FROME 136 (HYDERABAD TO BHUPALPATNAM) WITHIN 2 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRVALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 136 (HYDERABAD TO BHUPALPATNAM) WITHIN 12 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRVALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 136 (HYDERABAD TO BHUPALPATNAM) WITHIN 163, BETWEEN KM STONE 135 AND KM STONE 136 (HYDERABAD TO BHUPALPATNAM) WITHIN 18 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRVALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 138 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KMS FROM POCHAMMAIDAN CIRCLE, WARANGAL TOWARDS DESAIPET	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA JANGAON WARANGAL BHADRADRI KOTHAGUDEM HANUMAKONDA NALGONDA	REGULAR	150 150 200 150 150 180 150 100 150 150 150 150 150	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC OPEN ST OPEN OBC OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC	22 35 35 20 20 40 35 30 35 35 22 30 35 35 35 22 30 35 35 35 35 35 35 36 37 37 38 38 38 38 38 38 38 38 38 38 38 38 38	22 35 35 20 20 40 35 30 35 35 22 22 30	1225 1225 400 400 1600 1225 900 1225 1225 1225 1225 625 1225 484	32 32 0 32 32 32 32 32 0 32 32 32 32 32 32 32	75 95 0 55 12 12 95 0 75 95 75 0	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING	15 15 0 15 30 30 15 0 15 0 15 15 0 30	5 4 3 5 5 5 5 4 3 5 4 3 5
156 157 158 159 160 161 162 163 164 165 166 167 168 169 170 171 172	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GIUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROAD TO WARDS MULUGU ON LHS RAYAPATHAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VIJAVAPURI NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 81 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN 2 KM FROM JAGANNADHAPURAM VILLAGE ON PALWANCHA - DAMMAPET ROAD ON NH 163, BETWEEN KM STONE 147 AND KM STONE 15 (HYDERABAD TO BHUPALPATNAM) WITHIN 2 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRVALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 136 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRVALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 138 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM POCHAMMAIDAN LIRCLE TOWARDS KOTHAGUDEM ON NH-30 ON LHS, WITHIN 3 KM FROM YOCHAMMAIDAN CIRCLE; WARANGAL TOWARDS DESAIPET ON LHS, WITHIN 3 KM FROM VM BANJAR CIRCLE TOWARDS KOTHAGUDEM ON NH-30	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA JANGAON WARANGAL BHADRADRI KOTHAGUDEM HANUMAKONDA NALGONDA NALGONDA NALGONDA HANUMAKONDA KHAMMAM	REGULAR	150 150 200 150 150 180 150 150 150 150 150 150 150 15	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC OPEN ST OPEN OBC OPEN ST OPEN OBC OPEN ST OPEN OBC	DC	22 35 35 20 20 40 35 30 35 35 22 30 35 22 22 35 35 35 35 35 30 35 35 36 37 38 38 39 30 30 30 30 30 30 30 30 30 30	22 35 35 20 20 40 35 30 35 35 22 30 35 22 35 35 22 35 35	1225 1225 400 400 1600 1225 900 1225 1225 484 900 1225 625 1225 484 484 1225	32 32 0 32 32 32 32 32 32 32 32 32 32 32 32 32	75 95 0 55 12 12 12 95 0 75 95 75 0 12 12 12 12 95 0	DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS	15 15 0 15 30 30 15 0 15 15 15 15 15 15 15 0	5 4 3 5 5 5 4 3 5 4 3 5 5 4 3 5 5 5 4 3 5 5 4 3 5 4 5 5 4 5 5 5 5
156 157 158 159 160 161 162 163 164 165 166 167 168 169 170	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS MULUGU ON LHS RAYAPATMAM VILLAGE ON MADHIRA BOAD FROM PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VIDAYAPURI NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 81 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN 2 KM FROM JAGANNADHAPURAM VILLAGE ON PALWANCHA - DAMMAPET ROAD ON NH 163, BETWEEN KM STONE 147 AND KM STONE 150 (HYDERABAD TO BHUPALPATNAM) WITHIN 2 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 186 (HYDERABAD TO BHUPALPATNAM) WITHIN 18 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 188 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM POCHAMMAIDAN CIRCLE, WARANGAL TOWARDS DESAIPET ON LIS, WITHIN 3 KM FROM VM BANJAR CIRCLE TOWARDS KOTHAGUDEM ON NH-30 ON GODAVARIKHAN BYPASS ROAD, FROM NTS STATUE TO MOULANA ABDUL KALAM AZAD ON GODAVARIKHAN BYPASS ROAD, FROM NTS STATUE TO MOULANA ABDUL KALAM AZAD	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM WARANGAL KHAMMAM NALGONDA JANGAON WARANGAL BHADRADRI KOTHAGUDEM HANUMAKONDA NALGONDA HANUMAKONDA WARANGAL	REGULAR	150 150 200 150 150 150 180 150 150 150 150 150 150 150 150	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC OPEN ST OPEN OBC OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC	22 35 35 20 20 40 35 30 35 35 32 22 25 35 25 35	22 35 35 20 20 40 35 30 35 30 35 22 30 35 22 22	1225 1225 400 400 1600 1225 900 1225 1225 1225 1225 625 1225 484	32 32 0 32 32 32 32 32 0 32 32 32 32 32 32 32 32 32 32 32	75 95 0 55 12 12 95 0 75 95 75 0 12 12 12 95 0 12 12 12 12 12 12 12 12 12 12 12 12 12	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING	15 15 0 15 30 30 15 0 15 15 0 15 15 15 15 0	5 4 3 5 5 5 4 3 5 4 5 3 5 4 5 5 4 5 5 5 4 5 5 5 4 5 5 5 6 7 5 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8
156 157 158 159 160 161 162 163 164 165 166 167 168 169 170 171 172	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROAD STOWARDS MULUGU ON LHS RAYAPATNAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VILVAPURI NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 31 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN 2 KM FROM JAGANNADHAPURAM VILLAGE ON PALWANCHA - DAMMAPET ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 150 (HYDERABAD TO BHUPALPATNAM) WITHIN 2 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 138 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 138 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 136 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM VOM BANJAR CIRCLE TOWARDS SCRAPET ON LHS, WITHIN 3 KM FROM VOM BANJAR CIRCLE TOWARDS KOTHAGUDEM ON NH-30 ON GODAVARIKHANI BYPASS ROAD, FROM NTR STATUE TO MOULANA ABDUL KALAM AZAD CHOWK, ON RHS	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA JANGAON WARANGAL BHADRADRI KOTHAGUDEM HANUMAKONDA NALGONDA NALGONDA NALGONDA HANUMAKONDA KHAMMAM	REGULAR	150 150 200 150 150 180 150 150 150 150 150 150 150 15	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC OPEN ST OPEN OBC OPEN ST OPEN OBC OPEN ST OPEN OBC	DC	22 35 35 20 20 40 35 30 35 35 22 30 35 22 22 35 35 35 35 35 30 35 35 36 37 38 38 39 30 30 30 30 30 30 30 30 30 30	22 35 35 20 20 40 35 30 35 35 22 30 35 22 35 35 22 35 35	1225 1225 400 400 1600 1225 900 1225 1225 484 900 1225 625 1225 484 484 1225	32 32 0 32 32 32 32 32 32 32 32 32 32 32 32 32	75 95 0 55 12 12 12 95 0 75 95 75 0 12 12 12 12 95 0	DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS	15 15 0 15 30 30 15 0 15 15 15 15 15 15 15 0	5 4 3 5 5 5 4 3 5 4 3 5 5 4 3 5 5 5 4 3 5 5 4 3 5 4 5 5 4 5 5 5 5
156 157 158 159 160 161 162 163 164 165 166 167 168 169 170 171 172	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GIUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS MULUGU ON LHS RAYAPATHAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA Y JUNCTION TO DIVINE MERCY E M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VULAYAPURI NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 81 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN 2 KM FROM JAGANNADHAPURAM VILLAGE ON PALWANCHA - DAMMAPET ROAD ON NH 163, BETWEEN KM STONE 147 AND KM STONE 150 (HYDERABAD TO BHUPALPATNAM) WITHIN 2 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 138 (HYDERABAD TO BHUPALPATNAM) WITHIN 2 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 138 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM POCHAMMAIDAN CIRCLE, WARANGAL TOWARDS DESAIPET ON LHS, WITHIN 3 KM FROM VM BANJAR CIRCLE TOWARDS KOTHAGUDEM ON NH-30 ON LHS, WITHIN 3 KM FROM VM BANJAR CIRCLE TOWARDS KOTHAGUDEM ON NH-30 ON GODAVARIKHANI BYPASS ROAD, FROM NTR STATUE TO MOULANA ABDUL KALAM AZAD CHOWK, ON RHS FROM DHAMSALAPURAM CROSS ROAD TO SOMAVARAM RCOSS ROAD ON NEW NH-365BG	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA JANGAON WARANGAL BHADRADRI KOTHAGUDEM HANUMAKONDA NALGONDA NALGONDA NALGONDA HANUMAKONDA KHAMMAM	REGULAR	150 150 200 150 150 180 150 150 150 150 150 150 150 15	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC OPEN ST OPEN OBC OPEN ST OPEN OBC OPEN ST OPEN OBC	DC	22 35 35 20 20 40 35 30 35 35 22 30 35 22 22 35 35 35 35 35 30 35 35 36 37 38 38 39 30 30 30 30 30 30 30 30 30 30	22 35 35 20 20 40 35 30 35 35 22 30 35 22 35 35 22 35 35	1225 1225 400 400 1600 1225 900 1225 1225 484 900 1225 625 1225 484 484 1225	32 32 0 32 32 32 32 32 32 32 32 32 32 32 32 32	75 95 0 55 12 12 12 95 0 75 95 75 0 12 12 12 12 95 0	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS	15 15 0 15 30 30 15 0 15 15 15 15 15 15 15 0	5 4 3 5 5 5 4 3 5 4 3 5 5 4 3 5 5 5 4 3 5 5 4 3 5 4 5 5 4 5 5 5 5
156 157 158 159 160 161 161 162 163 164 165 166 167 168 169 170 171 172 173	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO MAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS MULUGU ON LHS RAYAPATNAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VILVATAPUR NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 81 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN 2 KM FROM JAGANNADHAPURAM VILLAGE ON PALWANCHA- DAMMAPET ROAD ON NH 163, BETWEEN KM STONE 174 AND KM STONE 150 (HYDERABAD TO BHUPALPATNAM) WITHIN 2 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 138 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 138 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM POCHAMMAIDAN CIRCLE, WARANGAL TOWARDS DESAIPET ON LHS, WITHIN 3 KM FROM VM BANJAR CIRCLE TOWARDS KOTHAGUDEM ON NH-30 ON GODAVARIKHANI BYPASS ROAD, FROM NTR STATUE TO MOULANA ABDUL KALAM AZD CHOWK, ON RHS FROM DHAMSALAPURAM CROSS ROAD ON NEW NH-365BG	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA JANGAON WARANGAL BHADRADRI KOTHAGUDEM HANUMAKONDA NALGONDA HANUMAKONDA KHAMMAM KARIMNAGAR KHAMMAM KARIMNAGAR KHAMMAM	REGULAR	150 150 200 150 200 150 150 150 150 150 150 150 150 150 1	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC OPEN ST OPEN OBC OPEN ST OPEN OBC OPEN OBC OPEN OBC OPEN OBC OPEN OBC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC	22 35 35 20 40 35 30 35 35 22 30 35 22 30 35 25 35 27 28 29 30 30 35 35 35 35 36 37 38 39 30 30 30 30 30 30 30 30 30 30	22 35 35 20 20 40 35 30 35 35 22 22 30 35 25 35 22 35 35 40	1225 1225 400 400 1600 1225 900 1225 1225 1225 625 1225 625 1225 484 1225 1225 1225	32 32 0 32 32 32 32 32 32 0 32 32 32 32 32 32 32 32 32 32	75 95 0 55 12 12 12 95 0 75 95 0 12 55 95 0 75 95 0 75 95 0 75 95 0 75 95 95 95 95 95 95 95 95 95 95 95 95 95	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	15 15 0 15 30 30 15 0 15 15 15 0 30 15 15 0 30 15 15 0 15 15 0	5 4 3 5 5 5 5 4 4 5 3 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 5 4 5 5 5 4 5 5 5 5 4 5
156 157 158 159 160 161 162 163 164 165 166 167 168 169 170 171 172	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GIUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL Y PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 3658B TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROAD STOWARDS MULUGU ON LHS RAYAPATNAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VILVATAPUR NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 81 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN 2 KM FROM JAGANNADHAPURAM VILLAGE ON PALWANCHA - DAMMAPET ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 136 (HYDERABAD TO BHUPALPATNAM) WITHIN 2 KM FROM MALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 136 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM MALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 136 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM MALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON H1 163, BETWEEN KM STONE 135 AND KM STONE 136 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM YOM BANJAR CIRCLE TOWARDS KOTHAGUDEM ON NH-30 ON GODAVARIKHANI BYPASS ROAD, FROM NTR STATUE TO MOULANA ABDUL KALAM AZAD CHOWA, ON RHS FROM DHAMASALAPURAM CROSS ROAD TO SOMAVARAM CROSS ROAD ON NEW NH-365BG TOWARDS DEVARAPALLI KOTHAPALLI VILLAGE TO VEDIRA VILLAGE ON NH-563 ON RHS	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA JANGAON WARANGAL BHADRADRI KOTHAGUDEM HANUMAKONDA NALGONDA HANUMAKONDA WARANGAL KHAMMAM KARIMAKONDA WARANGAL KHAMMAMM KARIMAKONDA	REGULAR	150 150 200 150 150 180 180 150 100 150 150 150 150 150 150 150 15	OPEN OBC ST OPEN OPEN OPEN OBC SC OPEN CC 1 OBC OPEN ST OPEN OBC OPEN ST OPEN OBC OPEN OPEN OBC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC	22 35 35 20 40 35 30 35 35 32 22 30 35 22 22 30 35 35 35 35 35 35 35 36 37 38 38 39 30 30 30 30 30 30 30 30 30 30	22 35 35 20 20 40 35 30 35 32 22 30 35 22 22 35 35 35	1225 1225 400 400 1600 1225 900 1225 484 900 1225 625 1225 484 1225 1225	32 32 0 32 32 32 32 32 0 32 32 32 32 32 32 32 32 32 32 32 32 32	75 95 0 55 12 12 12 95 0 75 95 75 0 12 55 0	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS	15 15 0 15 30 30 15 0 15 15 15 0 30 15 0 15	5 4 3 5 5 5 4 3 5 4 5 5 3 5 5 4 5 5 3 5 4 5 5 4 5 5 4 5 5 4 5 5 5 4 5 5 4 5 5 5 4 5 5 5 4 5
156 157 158 159 160 161 161 162 163 164 165 166 167 168 169 170 171 172 173	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO MAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS MULUGU ON LHS RAYAPATNAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VILVATAPUR NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 81 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN 2 KM FROM JAGANNADHAPURAM VILLAGE ON PALWANCHA- DAMMAPET ROAD ON NH 163, BETWEEN KM STONE 174 AND KM STONE 150 (HYDERABAD TO BHUPALPATNAM) WITHIN 2 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 138 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 138 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM POCHAMMAIDAN CIRCLE, WARANGAL TOWARDS DESAIPET ON LHS, WITHIN 3 KM FROM VM BANJAR CIRCLE TOWARDS KOTHAGUDEM ON NH-30 ON GODAVARIKHANI BYPASS ROAD, FROM NTR STATUE TO MOULANA ABDUL KALAM AZD CHOWK, ON RHS FROM DHAMSALAPURAM CROSS ROAD ON NEW NH-365BG	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM WARANGAL KHAMMAM NALGONDA JANGAON WARANGAL BHADRADRI KOTHAGUDEM HANUMAKONDA NALGONDA HANUMAKONDA KHAMMAM KARIMNAGAR KHAMMAM KARIMNAGAR	REGULAR	150 150 200 150 200 150 150 150 150 150 150 150 150 150 1	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC OPEN ST OPEN OBC OPEN OBC OPEN OBC OPEN OBC OPEN OBC OPEN OBC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC	22 35 35 20 40 35 30 35 35 35 22 30 35 25 35 25 35 25 35 40 40 40 40 40 40 40 40 40 40	22 35 35 20 20 40 35 30 35 35 22 22 30 35 25 35 35 40 35	1225 1225 400 400 1600 1225 900 1225 1225 484 1225 1225 1225 1225 1225 1225 1225 122	32 32 0 32 32 32 32 32 32 0 32 32 32 32 32 32 32 32 32 32	75 95 0 55 12 12 12 95 0 75 95 75 0 12 55 95 75 0 75 95 75 95 95 95 95 95 95 95 95 95 95 95 95 95	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS	15 15 0 15 30 30 15 0 15 15 15 15 15 15 15 15 15 15 15 15 15	5 4 3 5 5 5 5 4 3 5 4 5 3 5 4 5 5 5 5 5
156 157 158 159 160 161 161 162 163 164 165 166 167 168 169 170 171 172 173	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GIUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL Y PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 3658B TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROAD STOWARDS MULUGU ON LHS RAYAPATNAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VILVATAPUR NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 81 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN 2 KM FROM JAGANNADHAPURAM VILLAGE ON PALWANCHA - DAMMAPET ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 136 (HYDERABAD TO BHUPALPATNAM) WITHIN 2 KM FROM MALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 136 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM MALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 136 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM MALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON H1 163, BETWEEN KM STONE 135 AND KM STONE 136 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM YOM BANJAR CIRCLE TOWARDS KOTHAGUDEM ON NH-30 ON GODAVARIKHANI BYPASS ROAD, FROM NTR STATUE TO MOULANA ABDUL KALAM AZAD CHOWA, ON RHS FROM DHAMASALAPURAM CROSS ROAD TO SOMAVARAM CROSS ROAD ON NEW NH-365BG TOWARDS DEVARAPALLI KOTHAPALLI VILLAGE TO VEDIRA VILLAGE ON NH-563 ON RHS	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA JANGAON WARANGAL BHADRADRI KOTHAGUDEM HANUMAKONDA NALGONDA HANUMAKONDA KHAMMAM KARIMNAGAR KHAMMAM KARIMNAGAR KHAMMAM	REGULAR	150 150 200 150 200 150 150 150 150 150 150 150 150 150 1	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC OPEN ST OPEN OBC OPEN ST OPEN OBC OPEN OBC OPEN OBC OPEN OBC OPEN OBC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC	22 35 35 20 40 35 30 35 35 22 30 35 22 30 35 25 35 27 28 29 30 30 35 35 35 35 36 37 38 39 30 30 30 30 30 30 30 30 30 30	22 35 35 20 20 40 35 30 35 35 22 22 30 35 25 35 22 35 35 40	1225 1225 400 400 1600 1225 900 1225 1225 1225 625 1225 625 1225 484 1225 1225 1225	32 32 0 32 32 32 32 32 32 0 32 32 32 32 32 32 32 32 32 32	75 95 0 55 12 12 12 95 0 75 95 0 12 55 95 0 75 95 0 75 95 0 75 95 0 75 95 95 95 95 95 95 95 95 95 95 95 95 95	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	15 15 0 15 30 30 15 0 15 15 15 0 30 15 15 0 30 15 15 0 15 15 0	5 4 3 5 5 5 5 4 4 5 3 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 4 5 5 5 4 5 5 5 4 5 5 5 5 4 5
156 157 158 159 160 161 161 162 163 164 165 166 167 168 169 170 171 172 173	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROAD TO WARRDS MULUGU ON LHS RAYAPATNAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VILVAYPUR NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 81 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN 2 KM FROM JAGANNADHAPURAM VILLAGE ON PALWANCHA - DAMMAPET ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 136 (HYDERABAD TO BHUPALPATNAM) WITHIN 2 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 138 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 138 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 138 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM VM BANJAR CIRCLE TOWARDS KOTHAGUDEM ON NH-30 ON GODAVARIKHANI BYPASS ROAD, FROM NTR STATUE TO MOULANA ABDUL KALAM AZAD CHOWK, ON RHS FROM DHAMSALAPURAM ROSS ROAD TO SOMAVARAM CROSS ROAD ON NEW NH-365BG TOWARDS DEVARAPALLI KHAMAMAM TOWN-FROM MUSTHAFANAGAR CROST ROAD ON NH-SFOM MUSTHAFANAGAR KAAMAMAM TOWN-FROM MUSTHAFANAGAR CROST ROAD ON NH-STAFA	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA JANGAON WARANGAL BHADRADRI KOTHAGUDEM HANUMAKONDA NALGONDA HANUMAKONDA KHAMMAM KARIMNAGAR KHAMMAM KARIMNAGAR KHAMMAM	REGULAR	150 150 200 150 200 150 150 150 150 150 150 150 150 150 1	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC OPEN ST OPEN OBC OPEN OBC OPEN OBC OPEN OBC OPEN OBC OPEN OBC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC	22 35 35 20 40 35 30 35 35 35 22 30 35 25 35 25 35 25 35 40 40 40 40 40 40 40 40 40 40	22 35 35 20 20 40 35 30 35 35 22 35 22 35 35 40 35	1225 1225 400 400 1600 1225 900 1225 1225 484 1225 1225 1225 1225 1225 1225 1225 122	32 32 0 32 32 32 32 32 32 32 32 32 32	75 95 0 55 12 12 12 95 0 75 95 75 0 12 55 95 75 0 75 95 75 95 95 95 95 95 95 95 95 95 95 95 95 95	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS	15 15 0 15 30 30 15 0 15 15 15 15 15 15 15 15 15 15 15 15 15	5 4 3 5 5 5 5 4 3 5 4 5 3 5 4 5 5 5 5 5
156 157 158 159 160 161 161 162 163 164 165 166 167 168 169 170 171 172 173 174	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI SYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURVAPET ON N H 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS MULUGU ON LHS RAYAPATNAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VIJAYAPURI NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 81 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN 2 KM FROM JAGANNADHAPURAM VILLAGE ON PALWANCHA - DAMMAPET ROAD ON NH 163, BETWEEN KM STONE 147 AND KM STONE 150 (HYDERABAD TO BHUPALPATNAM) WITHIN 2 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 153 AND KM STONE 150 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM POCHAMMAIDAN CIRCLE, WARRANGAL TOWARDS DESAIPET ON LHS, WITHIN 3 KM FROM DESAIND KANDAL SHARDAL TO BHUPALPATNAM) WITHIN 3 KM FROM POCHAMMAIDAN CIRCLE, WARRANGAL TOWARDS DESAIPET ON LHS, WITHIN 3 KM FROM VA BANJAK CIRCLE TOWARDS KOTHAGUDEM ON NH-30 ON GODAVARIKHANI BYPASS ROAD, FROM NTR STATUE TO MOULANA ABDUL KALAM AZAD CHOWK, ON RHS FROM DHAMSALAPURAM CROSS ROAD TO SOMAVARAM CROSS ROAD ON NEW NH-365BG TOWARDS DEVARAPALLI KOTHAPALLI VILLAGE TO VIDAY VILLAGE ON NH-563 ON RHS KHAMMAM TOWN-FROM MUSTHAFANAGAR CENTRE TO ZP CENTRE ON MUSTHAFA NAGAR FROM TADIKAL VILLAGE TO SINGAPUR VILLAGE ON NH-563 ON EITHER SIDES	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM WARANGAL KHAMMAM NALGONDA JANGAON WARANGAL BHADRADRI KOTHAGUDEM HANUMAKONDA NALGONDA HANUMAKONDA KHAMMAM KARIMNAGAR KHAMMAM KARIMNAGAR	REGULAR	150 150 200 150 150 150 150 150 150 150 150 150 1	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC OPEN ST OPEN OBC OPEN OBC OPEN OBC OPEN OBC OPEN OPEN OPEN OPEN SC CC 1 OBCCC1 OBCCC1 OPEN OPEN SC CC 1 OBCCC1 OPEN OPEN OPEN SC CC 1 OBC CC1 OPEN	DC	22 35 35 20 40 35 30 35 35 30 35 22 22 30 35 35 40 35 35 35 36 37 38 38 39 30 30 30 30 30 30 30 30 30 30	22 35 35 20 20 40 35 30 35 35 22 22 30 35 25 35 35 40 35	1225 1225 400 400 1600 1225 900 1225 1225 484 1225 1225 1225 1225 1225 1225 1225 122	32 32 0 32 32 32 32 32 32 32 32 32 32	75 95 0 55 12 12 12 95 0 75 95 75 12 0 12 55 95 75 95 95 75 95 95 95 95 95 95	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS	15 15 0 15 30 30 15 0 15 15 15 0 30 15 15 15 15 15 15 15 15 15 15 15 15 15	5 4 3 5 5 5 5 4 3 5 4 5 5 3 5 4 5 5 5 4 5 5 5 5
156 157 158 159 160 161 161 162 163 164 165 166 167 168 169 170 171 172 173 174 175 176	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI BYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO MAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURVAPET ON NH 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS MULUGU ON LHS RAYAPATNAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA 7 JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VILVATAPUR NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 81 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN 2 KM FROM JAGANNADHAPURAM VILLAGE ON PALWANCHA- DAMMAPET ROAD ON NH 163, BETWEEN KM STONE 174 AND KM STONE 150 (HYDERABAD TO BHUPALPATNAM) WITHIN 2 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 135 AND KM STONE 138 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM POCHAMMAIDAN CIRCLE, WARANGAL TOWARDS SCHALPATNAM) WITHIN 3 KM SFROM POCHAMMAIDAN CIRCLE, WARANGAL TOWARDS DESAIPET ON LHS, WITHIN 3 KM FROM VM BANJAR CIRCLE TOWARDS KOTHAGUDEM ON NH-30 ON GODAVARIKHANI BYPASS ROAD, FROM NTR STATUE TO MOLUNAN ABDUL KALAM AZD CHOWK, ON RHS FROM DHAMSALAPURAM CROSS ROAD TO SOMAVARAM CROSS ROAD ON NEW NH-365BG TOWARDS DEVARRABALI KOTHAPALLI VILLAGE TO YEDIRA VILLAGE ON NH-563 ON RIHS KHAMMAM TOWN-FROM MUSTHAFANAGAR CRINTE TO AREMPULA VILLAGE ON NH-565BF FROM THIRUMALAYAPALEM VILLAGE TO TO REMPULA VILLAGE ON NH-563 FROM THIRUMALAYAPALEM VILLAGE TO AREMPULA VILLAGE ON NH-563 FROM THIRUMALAYAPALEM VILLAGE TO AREMPULA VILLAGE ON NH-563	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA JANGAON WARANGAL BHADRADRI KOTHAGUDEM HANUMAKONDA NALGONDA HANUMAKONDA KHAMMAM KARIMNAGAR KHAMMAM KARIMNAGAR KHAMMAM KARIMNAGAR KHAMMAM	REGULAR	150 150 200 150 150 150 150 150 150 150 150 150 1	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC OPEN ST OPEN OBC OPEN ST OPEN OBC OPEN OPEN OPEN OPEN SC CC 1 OPEN SC CC 1 OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC	22 35 35 20 40 35 30 35 32 22 30 35 22 22 30 35 25 27 30 35 40 35 35 40 35 36 37 38 39 30 30 30 30 30 30 30 30 30 30	22 35 35 20 20 40 35 30 35 35 22 30 35 22 30 35 22 30 35 35 40 35 30 35 30 35 30 35 30 35 30 30 35 36 37 38 39 30 30 30 30 30 30 30 30 30 30	1225 1225 400 400 1600 1225 900 1225 484 900 1225 625 1225 484 1225 1225 1600 1225 900	32 32 0 32 32 32 32 32 0 32 32 32 32 32 32 32 32 32 32	75 95 0 55 12 12 12 95 0 75 95 75 0 12 55 2 55 95 75 0 0 12 55 0 0 75 95 75 0 0 0 12 15 0 0 0 17 17 18 18 18 18 18 18 18 18 18 18 18 18 18	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS	15 15 15 0 15 30 30 15 0 15 15 15 15 15 15 15 15 30 15 15 30 15 30 15 30 15 30 15 30 15 30 15 30 15 30 30 15 30 30 30 30 40 40 40 40 40 40 40 40 40 40 40 40 40	5 4 3 5 5 5 5 4 3 5 4 5 3 5 4 5 5 5 5 4 3 5 5 4 5 5 5 4 5 5 5 5
156 157 158 159 160 161 161 162 163 164 165 166 167 168 169 170 171 172 173 174 175 176	MAHABUBABAD ROAD HANAMKONDA MANDAL LIMITS ON NH 353C WITHIN 3 KM FROM GUDEPAD CROSS ROADS TOWARDS PARKAL ON LHS, FROM WARANGAL CROSS ROAD TO MAHABUBABAD CROSS ROAD ON NEW NH-365A. FROM OLD BAZAR CIRCLE TOWARDS GODAVARIKHANI SYPASS ROAD VIA SIDDHARTHA HIGH SCHOOL BOMMAKAL FROM HOTEL V PARK KARIMMAGAR TO REKURTHI BUS STOP ON EITHER SIDE ON LHS, FROM THALLAMPADU CROSS ROAD TO NAIKANIGUDEM CROSS ROAD ON NEW NH- 365BB TOWARDS SURVAPET ON N H 163, WITHIN 3 KM FROM GUDEPAHAD CROSS ROADS TOWARDS MULUGU ON LHS RAYAPATNAM VILLAGE ON MADHIRA ROAD FROM PEDDAVOORA Y JUNCTION TO DIVINE MERCY E.M. HIGH SCHOOL ON SH19 (PEDDAVOORA TO VIJAYAPURI NORTH) ON NH 163, BETWEEN KM STONE 78 AND KM STONE 81 (HYDERABAD TO BHUPALPATNAM) WARANGAL MANDAL LIMITS ON EITHER SIDE, WITHIN 2 KM FROM JAGANNADHAPURAM VILLAGE ON PALWANCHA - DAMMAPET ROAD ON NH 163, BETWEEN KM STONE 147 AND KM STONE 150 (HYDERABAD TO BHUPALPATNAM) WITHIN 2 KM FROM NALGONGA COLLECTORATE ON NALGONDA TO MIRYALAGUDA ROAD ON NH 163, BETWEEN KM STONE 153 AND KM STONE 150 (HYDERABAD TO BHUPALPATNAM) WITHIN 3 KM FROM POCHAMMAIDAN CIRCLE, WARRANGAL TOWARDS DESAIPET ON LHS, WITHIN 3 KM FROM DESAIND KANDAL SHARDAL TO BHUPALPATNAM) WITHIN 3 KM FROM POCHAMMAIDAN CIRCLE, WARRANGAL TOWARDS DESAIPET ON LHS, WITHIN 3 KM FROM VA BANJAK CIRCLE TOWARDS KOTHAGUDEM ON NH-30 ON GODAVARIKHANI BYPASS ROAD, FROM NTR STATUE TO MOULANA ABDUL KALAM AZAD CHOWK, ON RHS FROM DHAMSALAPURAM CROSS ROAD TO SOMAVARAM CROSS ROAD ON NEW NH-365BG TOWARDS DEVARAPALLI KOTHAPALLI VILLAGE TO VIDAY VILLAGE ON NH-563 ON RHS KHAMMAM TOWN-FROM MUSTHAFANAGAR CENTRE TO ZP CENTRE ON MUSTHAFA NAGAR FROM TADIKAL VILLAGE TO SINGAPUR VILLAGE ON NH-563 ON EITHER SIDES	HANUMAKONDA WARANGAL KHAMMAM KARIMNAGAR KARIMNAGAR KARIMNAGAR KHAMMAM WARANGAL KHAMMAM NALGONDA JANGAON WARANGAL BHADRADRI KOTHAGUDEM HANUMAKONDA NALGONDA WARANGAL KHAMMAM KARIMNAGAR KHAMMAM KARIMNAGAR KHAMMAM	REGULAR	150 150 200 150 150 150 150 150 150 150 150 150 1	OPEN OBC ST OPEN OPEN OPEN OPEN OBC SC OPEN CC 1 OBC OPEN ST OPEN OBC OPEN OBC OPEN OBC OPEN OBC OPEN OPEN OPEN OPEN SC CC 1 OBCCC1 OBCCC1 OPEN OPEN SC CC 1 OBCCC1 OPEN OPEN OPEN SC CC 1	DC	22 35 35 20 20 40 35 30 35 32 22 30 35 22 30 35 35 40 35 35 35 35 36 37 38 39 30 30 30 30 30 30 30 30 30 30	22 35 35 20 20 40 35 30 35 32 22 30 35 22 30 35 35 40 35 36 37 38 39 39 30 30 30 30 30 30 30 30 30 30	1225 1225 400 400 1600 1225 900 1225 484 900 1225 484 1225 1225 1225 1225 1225 1225 1225 1225 1225 1225	32 32 0 32 32 32 32 32 32 32 32 32 32	75 95 0 55 12 12 95 0 75 95 75 0 112 95 0 75 95 0 75 95 0 75 95 0 75 95 0 0 75 95 0 0 75 95 0 0 0 12 12 12 12 12 12 12 12 12 12	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS BIDDING BIDDING DRAW OF LOTS BIDDING DRAW OF LOTS	15 15 0 15 30 30 15 0 15 15 15 0 30 15 15 15 15 15 15 15 15 15 15 15 15 15	5 4 3 5 5 5 5 4 3 5 4 5 5 3 5 4 5 5 5 4 5 5 5 5

181	ON LHS, WITHIN 1.5 KM FROM CHUNCHUPALLI POLICE STATION TOWARDS KHAMMAM ON	BHADRADRI KOTHAGUDEM	REGULAR	160	OPEN	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
182	KOTHAGUDEM-THALLADA ROAD KHAMMAM TOWN- WITHIN MUNCIPAL LIMITS	KHAMMAM	REGULAR	160	OPEN	CC	20	20	400	32	12	BIDDING	30	5
	KHAMMAM TOWN-FROM WARANGAL CROSS ROAD CENTRE TO MAMATA HOSPITAL CROSS													
183	ROAD CENTRE ON WYRA ROAD	KHAMMAM	REGULAR	160	OPEN	CC	20	20	400	32	12	BIDDING	30	5
184	KARIMNAGAR TOWN, FROM SHIVA THEATRE TO SATAVAHANA UNIVERSITY VIA ST. ALPHONES	KARIMNAGAR	REGULAR	150	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
185	HIGH SCHOOL ON LHS.	BHADRADRI KOTHAGUDEM	REGULAR	180	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
186	FROM NEW PALVANCHA BUS STATION TO NAGARAM VILLAGE ON NH-30 MADHIRA RAILWAY OVER BRIDGE TO ATHKURU CIRCLE ON MADHIRA-WYRA ROAD	KHAMMAM	REGULAR	140	OPEN	CC	30	30	900	32	12	BIDDING	30	5
187	MAHADEVPUR VILLAGE ON NH353C	JAYASHANKAR BHUPALPALLY	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
188	BETWEEN KM STONE 117 AND KM STONE 126 ON NH65 LHS(FROM VIJAYAWADA TO	NALGONDA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
189	BETWEEN KM STONE 42 AND 48 ON NH 65, LHS TOWARDS HYDERABAD	YADADRI BHUVANAGIRI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
190	FROM HABSIGUDA CROSS ROAD TO MALLAPUR CROSS ROAD	MEDCHAL MALKAJGIRI	REGULAR	150	OPEN	CC	25	25	700	32	12	BIDDING	30	5
191 192	WITHIN MUNICIPAL LIMITS-MIRYALAGUDA TOWN	NALGONDA BHADRADRI KOTHAGUDEM	REGULAR	100 180	OBC OPEN	DC CC	22 30	22 30	484 900	32 32	55 12	DRAW OF LOTS BIDDING	15 30	5
193	MANUGURU- WITHIN 3 KM FROM AMBEDKAR CENTRE TOWARDS BHADRACHALAM BETWEEN KM STONE 38 TO KM STONE 42 ON NH65, LHS TOWARDS VIJAYAWADA	YADADRI BHUVANAGIRI	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
	WITHIN 3 KM FROM PALVANCHA TOWN AMBEDKAR STATUE JUNCTION TOWARDS KINNERSANI													
194	DAM ON KINNERSANI PROJECT ROAD	BHADRADRI KOTHAGUDEM	REGULAR	130	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
195	BETWEEN KM STONE 127 AND KM STONE 133 ON NH65 LHS(FROM VIJAYAWADA TO	SURYAPET	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
196	ON NH563, WITHIN 2 KM FROM WARDHANNAPETA BUSSTATION TOWARDS KHAMMAM ON	WARANGAL	REGULAR	150	OPEN	CC	30	30	900	32	12	BIDDING	30	5
197	ON NH365, WITHIN 3 KM FROM BUDHARAOPET BUSSTATION TOWARDS GUDUR ON LHS FROM SHIVA THEATRE, KARIMNAGAR TOWN TO SATAVAHANA UNIVERSITY VIA ST. ALPHONES	WARANGAL	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
198	HIGH SCHOOL ON RHS	KARIMNAGAR	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
199	BETWEEM KM STONE 60 AND KM STONE 65 ON NH565(HALIYA TO VIJAYAPURI NORTH)	NALGONDA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
200	FROM RAMPUR TO KAZIPETA ON OLD NH 163 ON LHS	HANUMAKONDA	REGULAR	150	OPEN	DC	22	22	484	32	75	DRAW OF LOTS	15	5
201	FROM ADALAT CIRCLE TO AMBEDKAR JUNCTION ON EITHER SIDES IN HANAMKONDA	HANUMAKONDA	REGULAR	150	OPEN	DC	22	22	484	32	75	DRAW OF LOTS	15	5
202	SURYAPET TOWN (FROM PSR CENTER TO NTR PARK ON OLD HIGHWAY)	SURYAPET	REGULAR	100	OBC	DC	24	24	576	32	55	DRAW OF LOTS	15	4
203 204	FROM CHINTAKUNTA VILLAGE TO KAMANPUR VILLAGE ON SH 11 ON RHS	KARIMNAGAR NALGONDA	REGULAR REGULAR	150 150	SC OPEN	CFS DC	35 35	35 35	1225 1225	0 32	95	DRAW OF LOTS DRAW OF LOTS	0 15	3 5
204	WITHIN DEVARAKONDA MUNICIPALITY LIMITS, ON KALWAKURTHY ROAD WITHIN MUNICIPALITY LIMITS - YADAGIRIGUTTA TOWN	YADADRI BHUVANAGIRI	REGULAR	100	OPEN	DC	22	22	484	32	55	DRAW OF LOTS	15	5
206	BETWEEN KM STONE 65 AND KM STONE 68 ON SH2 LHS (FROM NARKETPALLI TO ADDANKI)	NALGONDA	REGULAR	100	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
207	ON EITHER SIDE WITHIN 2 KM FROM JULURUPAD VILLAGE ON KHAMMAM- KOTHAGUDEM	BHADRADRI KOTHAGUDEM	REGULAR	160	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
208	ON NH 563, FROM PEDDA NAGARAM BUS STOP TO ANEPURAM BUS STOP ON EITHER SIDE	MAHABUBABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
209	FROM SRR GOVERNMENT ARTS AND SCIENCE COLLEGE TOWARDS CHOPPADANDI ON AREPALLI	KARIMNAGAR	REGULAR	130	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
210	ROAD ON EITHER SIDES	NA CONDA	DECLUAR.	150	OBC	DC	35	35		32	95	DRAW OF LOTS	15	4
210	BETWEEN KM STONE 170 AND KM STONE 180 ON NH167 LHS (MIRYALAGUDA TO BETWEEN KM STONE 176 AND KM STONE 190 ON NH65 RHS(FROM VIJAYAWADA TO	NALGONDA SURYAPET	REGULAR REGULAR	150	OPEN	DC	35	35	1225 1225	32	95	DRAW OF LOTS DRAW OF LOTS	15	5
212	FROM RAMAVARAM TO PENAGADAPA RURAL VILLAGE TOWARDS VIJAYAWADA 10	BHADRADRI KOTHAGUDEM	REGULAR	180	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
213	WITHIN MUNICIPAL LIMITS-SURYAPET TOWN	SURYAPET	REGULAR	100	OBC	DC	22	22	484	32	55	DRAW OF LOTS	15	4
214	WITHIN 2 KM FROM TELANGANA GRAMEEN BANK, RAMNAGAR BRANCH TOWARDS	KARIMNAGAR	REGULAR	150	OPEN CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
	VEMULAWADA BYPASS ROAD.													
215 216	BETWEEN KM STONE 172 AND KM STONE 179 ON NH65 LHS(FROM VIJAYAWADA TO	SURYAPET BHADRADRI KOTHAGUDEM	REGULAR REGULAR	150 160	OPEN ST	DC CFS	35 35	35 35	1225 1225	32 0	95	DRAW OF LOTS DRAW OF LOTS	15 0	5
	FROM CHERLA VILLAGE TO GUMPENAGUDEM VILLAGE ON SH-12 FROM KAKATIYA UNIVERSITY CROSS TO ARR GARDENS (PEDDAMAGADDA) ON EITHER SIDES IN													
217	HANAMKONDA	HANUMAKONDA	REGULAR	150	OBC	cc	22	22	484	32	12	BIDDING	30	4
218	BETWEEN KM STONE 84 AND KM STONE 74 ON NH365B LHS(SURYAPET TO JANAGAON)	SURYAPET	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
219	FROM NACHARAM TO CHILKANAGAR X ROAD JUNCTION	MEDCHAL MALKAJGIRI	REGULAR	155	OPEN	CC	25	25	700	32	12	BIDDING	30	5
220	ON LHS, FROM CHENGICHERLA CROSS ROADS TO ANURAG UNIVERSITY CROSS ROADS	MEDCHAL MALKAJGIRI	REGULAR	235	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	TOWARDS GHATKESAR ROAD ON NH163													
221	ON LHS FROM BUDDHANAGAR TO SRI SAI COLONY ARCH ON CHENGICHERLA BODUPPAL ROAD	MEDCHAL MALKAJGIRI RANGA REDDY	REGULAR REGULAR	150 175	OBC OPEN	CC DC	25 35	25 35	700 1225	32 32	12 95	BIDDING DRAW OF LOTS	30 15	5
223	ON LHS, FROM BATASINGARAM TO PEDDAMBERPET ON NH FROM MULUGU BUS STATION TO HP LAXMI GAS AGENCY ON LHS ON NH163	MULUGU	REGULAR	150	OPEN CC 2	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
224	FROM CHAKRIPURAM CROSS ROAD TO RAMAKRISHNAPURAM ON TIRUMALAGIRI ROAD	MEDCHAL MALKAJGIRI	REGULAR	220	OBC CC 1	DC	25	25	700	32	75	DRAW OF LOTS	15	4
225	FROM KOMPALLY TO DULAPALLY CROSS ROADS	MEDCHAL MALKAJGIRI	REGULAR	200	SC CC 1	CFS	25	25	700	0	0	DRAW OF LOTS	0	3
226	FROM ALWAL TO KOMPALLY ON HT ROAD	MEDCHAL MALKAJGIRI	REGULAR	210	OPEN	CC	20	25	700	32	12	BIDDING	30	5
227	ON LHS, FROM L B NAGAR TO HAYAT NAGAR BUSTAND ON NH	RANGA REDDY RANGA REDDY	REGULAR REGULAR	190 200	OPEN OBC	DC DC	30 20	30 25	900 700	32 32	95	DRAW OF LOTS	15 15	5
228	VANASTHALIPURAM, ON GANESH TEMPLE ROAD FROM KACHVANI SINGARAM TO MUTHAWALLIGUDA	MEDCHAL MALKAIGIRI	REGULAR	150	OBC	CFS	20	25	700	32	75 0	DRAW OF LOTS	15 0	3
230	FROM VARDHANA SCHOOL TO KEESARA BUS STOP ON ECIL-KEESARA ROAD	MEDCHAL MALKAJGIRI	REGULAR	210	OPEN	DC	25	25	700	32	55	DRAW OF LOTS	15	5
231	FROM CHERLAPALLY BUS STAND TO RAMPALLY ON GHATKESAR ROAD	MEDCHAL MALKAJGIRI	REGULAR	150	OPEN	DC	25	25	700	32	75	DRAW OF LOTS	15	5
232	FROM BODUPPAL TO CHENGICHERLA ON BANGARU MAISAMMA TEMPLE ROAD	MEDCHAL MALKAJGIRI	REGULAR	150	OBC	CC	25	25	700	32	12	BIDDING	30	4
233	FROM TIRUMALAGIRI TO SWARNADHAMA NAGAR ON MILITARY DAIRY FARM ROAD	MEDCHAL MALKAJGIRI	REGULAR	150	OPEN	CC	25	25	700	32	12	BIDDING	30	5
234	FROM JAWAHAR NAGAR TO DAMMAIGUDA X ROAD ON BALAJI NAGAR ROAD	MEDCHAL MALKAJGIRI	REGULAR	210	ST	CFS	20	25	700	0	0	DRAW OF LOTS	0	3
235 236	FROM MUNGANOOR TO KOHEDA ON TOROOR ROAD ON LHS, FROM RAMPALLY CROSSROAD TO NAGARAM	RANGA REDDY MEDCHAL MALKAJGIRI	REGULAR REGULAR	150 150	OPEN OBC	DC DC	25 25	25 25	700 700	32 32	55 75	DRAW OF LOTS DRAW OF LOTS	15 15	5 4
237	FROM THIMMAIPALLI TO YELLAREDDY GUDA ON CHENNAPUR ROAD	MEDCHAL MALKAJGIRI	REGULAR	150	OPEN CC 1	DC	25	25	700	32	75	DRAW OF LOTS	15	5
238	FROM ECIL KEESARA ROAD JUNCTION TO HARDASPALLY	MEDCHAL MALKAJGIRI	REGULAR	165	SC	CFS	25	25	700	0	0	DRAW OF LOTS	0	3
239	ON RHS,FROM RNR X ROAD TO KUNTLOOR-QUTUBULLAPUR JUNCTION	RANGA REDDY	REGULAR	200	OBC	DC	25	25	700	32	55	DRAW OF LOTS	15	4
240	FROM ORR EXIT NO.10 TO Y JUNCTION(HAYATH NAGAR-GOWRELLY ROAD)	RANGA REDDY	REGULAR	150	OPEN	DC	25	25	700	32	55	DRAW OF LOTS	15	5
241	ON LHS, FROM ALWAL RAITU BAZAAR TO HAKIMPET BUSTSAND	MEDCHAL MALKAJGIRI	REGULAR	150	OPEN	DC	25	25	700	32	75	DRAW OF LOTS	15	5
242	FROM UPPAL BUS DEPOT TO CHENGICHERLA CROSS ROAD ON LHS, FROM RAMPALLY CHOURASTA TO KARIMGUDA	MEDCHAL MALKAJGIRI MEDCHAL MALKAJGIRI	REGULAR REGULAR	210 165	OBC ST	CC CFS	25 25	25 25	700 700	32 0	12 0	BIDDING DRAW OF LOTS	30 0	3
244	FROM MISSAMA TEMPLE TO SEVEN HILLS CIRCLE ON HAYAT NAGAR SAHEB NAGAR MAIN	RANGA REDDY	REGULAR	200	OPEN	CC	25	25	700	32	12	BIDDING	30	5
	ON LHS, WITHIN 500 M FROM ORR SERVICE ROAD TO VATTINGAULAPALLY, ON KANCHI -		REGULAR	360			25		800		12	BIDDING	30	
245	GACHIBOWLI ROAD	RANGA REDDY			OPEN	СС		25		32				5
246	ON LHS, FROM N.I.R.D. X ROAD TO ORR SERVICE ROAD ON RAJENDRANAGAR ROAD	RANGA REDDY	REGULAR	300	OBC	CC	30	30	900	32	12	BIDDING	30	4
247	GOLDEN MILE COLONY, KOKAPET	RANGA REDDY	REGULAR	300	SC	CFS	20	20	700	0	0	DRAW OF LOTS	0	3

248	FROM NH44 TO RGI AIRPORT ON AIRPORT APPROACH ROAD	RANGA REDDY	REGULAR	360	OPEN	cc	35	35	1225	32	12	BIDDING	30	5
249	ON LHS, FROM ARAM GHAR CROSS ROADS TO KATTEDAN RING ROAD JUNCTION ON INNER	DANICA DEDDV	DECLUAR.	270	OPEN	DC	25	25	800	22	75	004444 05 1 075	15	
249	RING ROAD	RANGA REDDY	REGULAR	2/0	OPEN	DC	25	25	800	32	75	DRAW OF LOTS	15	5
250	CHINTALMET LIMITS	RANGA REDDY	REGULAR	150	OBC PH	CC	20	25	700	32	12	BIDDING	30	4
251	ON LHS, FROM KANDUKUR TO KADTHAL ON NH	RANGA REDDY	REGULAR	150	ST PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
252	FROM SHAMSHABAD BUS STAND TO ORR, ON RALLAGUDA ROAD	RANGA REDDY	REGULAR	240	OPEN	DC	20	20	700	32	75	DRAW OF LOTS	15	5
252	ON LHS, FROM MAILARDEVPALLY RING ROAD JUNCTION TO ARAM GHAR CROSS ROADS ON	DANICA DEDDV	05511140	240	ODEN.		20		200	22		DIDDING	20	1
253	INNER RING ROAD	RANGA REDDY	REGULAR	240	OPEN	cc	30	30	900	32	12	BIDDING	30	5
254	WITHIN 1 KM FROM SBI KISMATPUR BRANCH TO BUDVEL ON KISMATPUR ROAD	RANGA REDDY	REGULAR	240	OBC	cc	30	30	900	32	12	BIDDING	30	4
255	ON LHS, WITHIN 1 KM FROM HOTEL RAINBOW TOWER SHAMSHABAD TO AIRPORT, ON	DANICA DEDDV	05511140	240	ODEN.				200	22		DIDDING	20	1
255	UTKOOR MOGDUMPUR ROAD	RANGA REDDY	REGULAR	210	OPEN	cc	25	25	800	32	12	BIDDING	30	5
	ON EITHER SIDE, WITHIN 5 KM FROM MORAMPALLI BANJARA JUNCTION ON KOTHAGUDEM-									_	_		_	
256	BHADRACHALAM ROAD ON NH-30	BHADRADRI KOTHAGUDEM	REGULAR	160	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
257	FROM RTO KONDAPUR TO KOTHAGUDA	RANGA REDDY	REGULAR	300	OPEN	DC	20	25	700	32	75	DRAW OF LOTS	15	5
	ON LHS WITHIN 2.5 KM FROM MAILARDEVPALLY RING ROAD JUNCTION TO JALPALLI, ON RGI													T . "
258	AIRPORT ROAD	RANGA REDDY	REGULAR	210	OBC	cc	25	20	800	32	12	BIDDING	30	4
259	ALKAPURI TOWNSHIP 100FT ROAD	RANGA REDDY	REGULAR	270	OPEN	CC	20	20	700	32	12	BIDDING	30	5
260	WITHIN 1.5 KM FROM PILLAR NO. 118 INNER RING ROAD ATTAPUR ON BAPU GHAT LINK ROAD	RANGA REDDY	REGULAR	210	sc	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
261	ON LHS, WITHIN 2.5 KM FROM SHIVAJI CHOWK TO KISMATPUR ON KISMATPUR ROAD	RANGA REDDY	REGULAR	210	OBC	CC	20	20	700	32	12	BIDDING	30	4
262	ON LHS, WITHIN 2 KM FROM SSR CONVENTION HALL,IMAMGUDA ON SRISAILAM ROAD	RANGA REDDY	REGULAR	210	OPEN	cc	35	35	1225	32	12	BIDDING	30	5
263	FROM NARSAMPET BUSSTAND TOWARDS AMBEDKAR CHOWRASTA	WARANGAL	REGULAR	150	OPEN CC 1	DC	22	22	484	32	55	DRAW OF LOTS	15	5
264	FROM KALIMANDIR TO CHEVELLA SHANKARPALLY CROSS ROADS ON CHEVELLA ROAD	RANGA REDDY	REGULAR	150	OBC	cc	20	20	700	32	12	BIDDING	30	4
265	ON LHS, WITHIN 2 KM FROM BDL X ROADS SHANKARPALLE TO MOKILA, ON HYDERABAD ROAD	RANGA REDDY	REGULAR	150	SC	CES	25	25	800	0	0	DRAW OF LOTS	0	3
266	KOTHAPET ON SALALA-KOTHAPET ROAD	RANGA REDDY	REGULAR	210	OPEN	CC	20	20	700	32	12	BIDDING	30	5
267	ON LHS, WITHIN 2.5 KM FROM PMRIMS CHEVELLA TO MOINABAD ON HYDERABAD ROAD	RANGA REDDY	REGULAR	210	OPEN	cc	35	35	1225	32	12	BIDDING	30	5
					OI, EM						12			
268	WITHIN 2 KM FROM VIJAY ANAND PAPER MILL ELKATTA TO SARDAR NAGAR ON SHADNAGAR -	RANGA REDDY	REGULAR	120	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
269	CHEVELLA ROAD	RANGA REDDY	REGULAR	210	ST	CFS	35	35	1225	0	-	DRAW OF LOTS	0	+ -
	ON LHS, WITHIN 1 KM FROM KADTHAL POLICE STATION TO KANDUKUR, ON NH	HYDERABAD	REGULAR REGULAR								0	DRAW OF LOTS		3
270	WITHIN 1.5 KM FROM PVNR EXPRESSWAY PILLAR NO. 102 ON KARAN SINGH MARG			240	OPEN	DC	20	20	700	32	75		15	5
271	ON LHS, FROM KM STONE 25 TO KM STONE 28 ON NH44	RANGA REDDY	REGULAR	240	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
272	FROM NIA JUNCTION TO GREENHILLS-ENVIRON ROAD X ROADS	MEDCHAL MALKAJGIRI	REGULAR	400	OPEN	DC	20	20	700	32	75	DRAW OF LOTS	15	5
273	FROM ALLAPUR TO ERRAGADDA VIA BOARABANDA	MEDCHAL MALKAJGIRI	REGULAR	250	OBC CC 1	DC	20	20	700	32	75	DRAW OF LOTS	15	4
274	FROM MOHAMMADABAD TO GANDEED ON NH	MAHBUBNAGAR	REGULAR	150	ST CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
275	FROM FATHEPUR X ROADS TO YENKEPALLY X ROADS, ON SHANKARPALLE - CHEVELLA ROAD	RANGA REDDY	REGULAR	150	OPEN PH	DC	30	30	900	32	55	DRAW OF LOTS	15	5
276	KANAKAMAMIDI VILLAGE IN MOINABAD MANDAL ON NEW NH	RANGA REDDY	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
277	FROM BOWRAMPET TO SURARAM ON LHS TOWARDS SURARAM	MEDCHAL MALKAJGIRI	REGULAR	200	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
278	FROM HITECH CITY METRO STATION TO KOTHAGUDA X ROADS.	RANGA REDDY	REGULAR	400	SC	CFS	20	20	700	0	0	DRAW OF LOTS	0	3
279	FROM YASHODA HOSPITALS HITECH CITY TO JNTU	MEDCHAL MALKAJGIRI	REGULAR	400	OPEN	CC	20	20	700	32	12	BIDDING	30	5
280	FROM CHIREC INTERNATIONAL SCHOOL KONDAPUR TO HCU DEPOT	RANGA REDDY	REGULAR	400	OBC	DC	20	20	700	32	75	DRAW OF LOTS	15	4
204	WITHIN 02 KMS FROM SUPREME TRAMPOLINE (SERLINGAMPALLE)TOWARDS CANDEUR	DANICA DEDDV	DECLUAR.	200	ODEN	200	20	20	700	22	75	004444 05 1 075	15	5
281	LAKESCAPE	RANGA REDDY	REGULAR	300	OPEN	DC	20	20	700	32	75	DRAW OF LOTS	15	2
282	WITHIN 2KM FROM LAKSHMI NARASIMHA SWAMY TEMPLE PUPPALGUDA ON NARSINGI ROAD	RANGA REDDY	REGULAR	300	OPEN	DC	20	20	700	32	75	DRAW OF LOTS	15	5
283	FROM KALIMANDIR TO TSPA JUNCTION ON CHEVELLA ROAD	RANGA REDDY	REGULAR	195	ST	CFS	20	20	700	0	0	DRAW OF LOTS	0	3
284	FROM KANDLAKOYA TO MEDCHAL ON NH44	MEDCHAL MALKAJGIRI	REGULAR	250	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
285	FROM SHAIKPET TO MANIKONDA BUS STOP	RANGA REDDY	REGULAR	400	OPFN	DC	20	20	700	32	75	DRAW OF LOTS	15	5
286	WITHIN 03 KMS FROM MUTHANGI CHURCH ON NH65 TO RUDRARAM	SANGAREDDY	REGULAR	200	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
287	FROM NALAGANDLA TO WIPRO CAMPUS.GOPANPALLY	RANGA REDDY	REGULAR	400	SC	CFS	25	25	700	0	0	DRAW OF LOTS	0	3
	ON LHS, WITHIN 1 KM FROM NH65 JUNCTION ON PEDDAMABERPET ROAD TOWARDS SR									-	_		T T	
288	JUNIOR COLLEGE.	RANGA REDDY	REGULAR	160	OBC	CC	25	25	700	32	12	BIDDING	30	4
289		MEDCHAL MALKAJGIRI	REGULAR	300	OPEN	CC	30	30	900	32	12	BIDDING	30	5
289	FROM MOOSAPET METRO STATION TO CHANDANAGAR	MEDCHAL MALKAJGIRI	REGULAR REGULAR	150	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
	FROM DUNDIGAL POLICE STATION TO SURARAM													
291	FROM MIYAPUR X ROADS TO BACHUPALLY CROSSROAD	MEDCHAL MALKAJGIRI	REGULAR	300	OBC	DC	25	25	700	32	75	DRAW OF LOTS	15	4
292	FROM BHEL TO MIYAPUR X ROADS	RANGA REDDY	REGULAR	350	SC	CFS	25	25	700	0	0	DRAW OF LOTS	0	3
293	ON LHS FROM BASHIRABAD TO KANDLAKOYA ON NH44	MEDCHAL MALKAJGIRI	REGULAR	300	OPEN	CC	30	30	900	32	12	BIDDING	30	5
294	FROM GOPANAPALLY TO WIPRO CIRCLE GACHIBOWLI	RANGA REDDY	REGULAR	450	OPEN	DC	25	25	700	32	75	DRAW OF LOTS	15	5
295	FROM GOVADAVARI CUTS MADHAPUR TO CYBER TOWERS SIGNAL ON MADHAPUR 100 FEET	RANGA REDDY	REGULAR	350	OBC	CC	25	25	700	32	12	BIDDING	30	4
296	ON LHS, FROM MANNEGUDA CROSS ROAD TO INJAPUR ON SH	RANGA REDDY	REGULAR	250	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
297	ON LHS FROM YERRARAM TO PEDDAPUR ON NH161 NOT ON SERVICE ROAD	SANGAREDDY	REGULAR	200	OPEN	CC	35	45	1575	32	12	BIDDING	30	5
298	FROM SAROORNAGAR LAKE TO NH-65 ON GADDIANNARAM ROAD	RANGA REDDY	REGULAR	200	OPEN	DC	25	25	700	32	75	DRAW OF LOTS	15	5
299	FROM SURARAM TO CHINTHAL	MEDCHAL MALKAJGIRI	REGULAR	200	OBC	DC	25	25	700	32	75	DRAW OF LOTS	15	4
300	ON RHS WITHIN 05 KMS FROM EXIT NO.3 TOWARDS BHEL.	SANGAREDDY	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
301	FROM GOLKONDA ROAD TO PURANAPUL ON SRI SANT KESHAV SWAMI MAHARAJ ROAD	HYDERABAD	REGULAR	210	OPEN	DC	25	25	700	32	75	DRAW OF LOTS	15	5
302	ON RHS, FROM SAHEBNAGAR TO INJAPUR ON BANK COLONY ROAD	RANGA REDDY	REGULAR	330	OBC	CC	30	30	900	32	12	BIDDING	30	4
303	ON LHS FROM NAMPALLY X ROADS TO ASSEMBLY	HYDERABAD	REGULAR	220	OPEN	DC	20	25	700	32	75	DRAW OF LOTS	15	5
304	ON RHS, FROM MUSHEERABAD TO SANGEET JUNCTION ON MAIN ROAD	HYDERABAD	REGULAR	220	OPEN	CC	25	25	700	32	12	BIDDING	30	5
305	ATTAPUR LIMITS	RANGA REDDY	REGULAR	180	ST	CFS	20	20	700	0	0	DRAW OF LOTS	0	3
306	ON LHS, FROM NAGARJUNASAGAR CROSS ROAD TO TKR KAMAN ON INNER RING ROAD	RANGA REDDY	REGULAR	330	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
	ON RHS WITHIN 01 KM FROM SAGAR CROSS ROAD TO TAK KAMANA ON INVESTIGATION ON													1
307	BAIRAMALGUDA ROAD	RANGA REDDY	REGULAR	250	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
308	ON LHS, FROM SHIVAJI CHOWK TO BALAPUR CROSS ROAD ON BALAPUR-RCI AIRORT ROAD	RANGA REDDY	REGULAR	170	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
309	WITHIN 05 KMS ON LHS FROM BHEL CIRCLE TOWARDS ISNAPUR ON NH65	SANGAREDDY	REGULAR	200	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
310	ON LHS FROM NAGOLE CROSS ROAD TO KOTHAPET ON KOTHAPET ROAD	RANGA REDDY	REGULAR	200	OBC	DC	25	25	700	32	75	DRAW OF LOTS	15	4
311	ON RHS, FROM MAGGLE CROSS ROAD TO KOTHAPET ON KOTHAPET ROAD ON RHS, FROM MOGHULPURA JUNCTION TO CHARMINAR ROAD ON ABDUR RAHMAN ROAD	HYDERABAD	REGULAR	200	OPEN	DC	20	25	700	32	75	DRAW OF LOTS	15	5
			REGULAR	140		CC			800	32		BIDDING		5
312	FROM SECRETRIATE TOWARDS HYDERABAD BOATS CLUB	HYDERABAD	REGULAR	140	OPEN CC 1	CC	25	25	000	32	12	DIDDING	30	+ -
313	ON LHS FROM CHAMPAPET CROSS ROAD TO KARMANGHAT CROSS ROAD ON BAIRAMALGUDA ROAD	RANGA REDDY	REGULAR	170	OBC	CC	20	25	700	32	12	BIDDING	30	4
244		MANUFILIPAL CAS	DEC::: 45	200	SC	055	35	25	600	0	0	DDAW OF LOT		+
314	MAHABUBNAGAR TOWN: WITHIN 2 KM FROM ONE TOWN CHOWRASTA TOWARDS BHOOTPUR	MAHBUBNAGAR	REGULAR	200	SL	CFS	25	25	800	U	U	DRAW OF LOTS		

315	ON RHS FROM ALI CAFÉ JUNCTION, ZINDA TILISMATH NAGAR, AMBERPET ON ZINDA TILISMATH ROAD	HYDERABAD	REGULAR	200	OPEN	DC	25	25	700	32	75	DRAW OF LOTS	15	5
316	ON LHS OF KONGARAKALAN ROAD TO ORR VIA SHLOKA CONVENTION ROAD, ADIBATLA MUNICIPALITY	RANGA REDDY	REGULAR	200	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
317	ON LHS, FROM KARMANGHAT X ROAD TO GLOBAL HOSPITAL	RANGA REDDY	REGULAR	200	OBC	DC	25	25	700	32	75	DRAW OF LOTS	15	4
318	FROM JUBILEE HILLS CHECK POST TO MADHURA NAGAR	HYDERABAD	REGULAR	400	ST	CFS	20	20	700	0	0	DRAW OF LOTS	0	3
319	FROM TCS ADIBATLA TO BONGLOOR ORR SERVICE ROAD ON TCS ROAD	RANGA REDDY	REGULAR	200	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
320	FROM KANCHANBAGH TO BALAPUR CROSS ROAD ON SUBEDAR MALLAREDDY MARG	RANGA REDDY	REGULAR	200	OPEN	CC	25	20	800	32	12	BIDDING	30	5
321	FROM MANTHATI X ROAD TO KOLLAPUR X ROAD ON SH	NAGARKURNOOL	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
322	ON LHS FROM SHIVAJI CHOWK CROSS ROAD TO GURRAM CHERUVU ON BALAPUR ROAD	RANGA REDDY	REGULAR	170	OPEN	DC	25	20	800	32	75	DRAW OF LOTS	15	5
323	ON LHS FROM EDULANAGULAPALLI TOLL PLAZA (EXIT NO.2) TO NAGULAPALLI ON NEW 100FEET ROAD TOWARDS KONDAKAL.	SANGAREDDY	REGULAR	200	SC CC 1	CFS	25	25	800	0	0	DRAW OF LOTS	0	3
324	FROM ALLWYN X ROADS TO KOTHAGUDA X ROADS	RANGA REDDY	REGULAR	300	OPEN CC 2	DC	25	25	700	32	75	DRAW OF LOTS	15	5
325	ON RHS FROM GURRAMGUDA TO ALMASGUDA ON ALMASGUDA ROAD	RANGA REDDY	REGULAR	200	OBC CC 1	DC	30	30	900	32	75	DRAW OF LOTS	15	4
326	LHS WITHIN 1.5 KM FROM MAHBUBNAGAR-BHOOTPUR ROAD CROSSING CHOWRASTA ON MAHBUBNAGAR NEW BYEPASS ROAD TOWARDS PISTA HOUSE RESTAURANT	MAHBUBNAGAR	REGULAR	160	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
327	WITHIN 1.5 KMS FROM JADCHERLA FLY OVER TOWARDS MAHABUBNAGAR ON NH	MAHBUBNAGAR	REGULAR	210	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
328	WITHIN 4 KM FROM NETAJI SUBHASH CHANDRA BOSE STATUE YELKICHERLA TOWARDS	MAHBUBNAGAR	REGULAR	130	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
510	MAHABUBNAGAR ON SH	With Book Control	NEGOE/III	150	050	50	33	33	1113	32	,,,	510117 61 2515		
329	NAGARKURNOOL TOWN: WITHIN 1.5 KM FROM NAGANOOL CHOWRASTA TOWARDS NAGANOOL VILLAGE	NAGARKURNOOL	REGULAR	160	OPEN	DC	25	25	800	32	55	DRAW OF LOTS	15	5
330	FROM ITIKYAL TO BEECHUPALLI (BETWEEN KM STONE 164 & 170 ON NH) LHS TOWARDS	JOGULAMBA GADWAL	REGULAR	160	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
331	HYDEARABAD	SURYAPET	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
332	BETWEEN KM STONE 26 AND KM STONE 29 ON NH365 (NAKREKAL TO MAHABUBABAD) FROM CHINTHAL JUNCTION TO VIVEKANANDA STATUE ON JAGADGIRGUTTA ROAD	MEDCHAL MALKAJGIRI	REGULAR	250	ST	CFS	25	25	700	0	95	DRAW OF LOTS	0	3
333	ADDAKAL LHS TOWARDS BANGALORE ON NH	MAHBUBNAGAR	REGULAR	200	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
334	FROM KOLLAMPALLY TO DHANWADA ON SH	NARAYANPET	REGULAR	140	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
335	WITHIN 4 KM FROM CHARAKONDA AMBEDKAR STATUE TOWARDS KALWAKURTHY ON NH	NAGARKURNOOL	REGULAR	210	OBC	DC	35	45	1575	32	95	DRAW OF LOTS	15	4
336	DOMALAPENTA ON NH	NAGARKURNOOL	REGULAR	200	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
337	WITHIN 3 KM FROM MAHABUBNAGAR MAYURI PARK TOWARDS JADCHARLA ON NH	MAHBUBNAGAR	REGULAR	200	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
338	ON LHS FROM PEDDAPUR TO GIRMAPUR ON NH65 NOT ON SERVICE ROAD	SANGAREDDY	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
339	WITHIN 3 KM FROM HAJIPUR X ROAD TOWARDS DINDI ON NH	NAGARKURNOOL	REGULAR	200	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
340	ON RHS OF NEW R&B ROAD FROM PASHAMYLARAM INDUSTRIAL PARK TO ORR-PATANCHERU- SHANKARPALLY ROAD JUNCTION	SANGAREDDY	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
341	ON LHS FROM SANKALAMADDI TO POTHULAMADUGU ON NH	MAHBUBNAGAR	REGULAR	200	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
342	ON LHS FROM RAJAPUR TO RANGAREDDIGUDA ON NH	MAHBUBNAGAR	REGULAR	200	OPEN	DC	35	45	1575	32	95	DRAW OF LOTS	15	5
343 344	FROM NARAYANAPURAM TO PUTANDODDI ON NH THADIPARHTI,WANAPARTHY MUNICIPAL LIMITS ON WANAPARTHY-BIJINEPALLY ROAD	JOGULAMBA GADWAL WANAPARTHY	REGULAR REGULAR	160 150	OBC OPEN	DC DC	35 25	45 25	1575 800	32 32	95 75	DRAW OF LOTS DRAW OF LOTS	15 15	5
344	ON LHS, FROM INJAPUR TO B N REDDY CROSS ROAD ON SH	RANGA REDDY	REGULAR	250	ST	CFS	30	30	900	0	75	DRAW OF LOTS	0	3
346	ON LHS, ADDAKAL TOWARDS HYDERABAD ON NH	MAHBUBNAGAR	REGULAR	150	OPEN	CC	35	45	1575	32	12	BIDDING	30	5
347	ON LHS OF NEW R&B ROAD FROM PASHAMYLARAM INDUSTRIAL PARK TO ORR-PATANCHERU- SHANKARPALLY ROAD JUNCTION	SANGAREDDY	REGULAR	150	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
348	ON LHS, FROM ALMAIPET TO JOGIPET CROSS ROADS ON NH161 NOT ON SERVICE ROAD	SANGAREDDY	REGULAR	210	OPEN	DC	45	45	2025	32	95	DRAW OF LOTS	15	5
349	FROM GANDIGUDEM-KHAZIPALLY X ROADS TO KHAZIPALLY ON KHAZIPALLY ROAD NOT ON ORR	SANGAREDDY	REGULAR	180	SC PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
350	ON LHS, FROM MAHESHWARAM GATE TO THUKKUGUDA ON NH	RANGA REDDY	REGULAR	150	OBC PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
351	KPHB METRO STATION TO JAGADIGIRIGUTTA	MEDCHAL MALKAJGIRI	REGULAR	150	OPEN	DC	25	25	700	32	75	DRAW OF LOTS	15	5
352	ON RHS OF ON RADIAL ROAD 7 BETWEEN EDULANAGULAPALLI TOLL PLAZA (EXIT 2 -ORR) TO TELLAPUR CIRCLE	SANGAREDDY	REGULAR	250	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
353	ON LHS OF RADIAL ROAD 7 BETWEEN EDULANAGULAPALLI TOLL PLAZA (EXIT 2 -ORR) TO TELLAPUR CIRCLE	SANGAREDDY	REGULAR	150	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
354	WITHIN 01 KM ON LHS FROM YENEPALLY X ROADS TOWARDS NEW COLLECTORATE OFFICE	VIKARABAD	REGULAR	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
355	ON LHS, FROM SHIVAMPET TO SULTANPUR ON NH161 (NOT ON SERVICE ROAD)	SANGAREDDY	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
356	ON LHS, FROM YERRARAM TO ANDOLE ON SERVICE ROAD OF NH161	SANGAREDDY	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
357	FROM NALLAGANDLA FLY OVER TO GOPANPALLE THANDA CHOWRASTA ON KANCHI GACHIBOWLI ROAD	RANGA REDDY	REGULAR	300	OBC	DC	25	25	700	32	75	DRAW OF LOTS	15	4
358	ON LHS FROM B N REDDY NAGAR CROSS ROAD TO SAGAR CROSS ROAD ON SH	RANGA REDDY	REGULAR	200	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
359	WITHIN 01 KM FROM APMET ENGINEERING LIMITED ON IDA BOLLARAM ROAD TOWARDS	SANGAREDDY	REGULAR	185	OPEN	DC	25	30	900	32	75	DRAW OF LOTS	15	5
360	DR.REDDY LABORATORIES WITHIN JAGITIAL MUNIPAL LIMITS NOT ON NH	JAGITIAL	REGULAR	100	OPEN	DC	20	20	500	32	55	DRAW OF LOTS	15	5
361	WITHIN 2 KM FROM KAKATIYA UNIVERSITY CROSS ROADS TOWARDS FATIMA JUNCTION (HANAMKONDA) ON LHS	HANUMAKONDA	REGULAR	150	OPEN	DC	22	22	484	32	75	DRAW OF LOTS	15	5
362	WITHIN 03 KMS FROM DARGAH(ON NH-65) TOWARDS INDRESHAM ON GMR CONVENTION	SANGAREDDY	REGULAR	150	OBC	DC	21	30	900	32	75	DRAW OF LOTS	15	4
363	KOLLUR LIMITS, TELLAPUR MUNICIPALITY	SANGAREDDY	REGULAR	150	SC	CFS	25	25	800	0	0	DRAW OF LOTS	0	3
364	FROM ONE TOWN POLICE STATION, KARIMNAGAR TOWN TO GEETHA BHAVAN CIRCLE ON EITHER SIDE	KARIMNAGAR	REGULAR	150	OPEN CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
365	ON LHS FROM MAHATMA BASAVESHWAR CIRCLE TO JUZALPUR ON NH161B	SANGAREDDY	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
366	ON LHS FROM NGT CIRCLE TO TELLAPUR CIRCLE ON NALLAGANDLA -TELLAPUR ROAD	SANGAREDDY	REGULAR	190	OPEN	DC	25	30	800	32	75	DRAW OF LOTS	15	5
367	WITHIN 3 KM FROM HANWADA POLICE STATION TOWARDS KOSGI ON NH	MAHBUBNAGAR	REGULAR	200	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
368	ON LHS WITHIN 01 KM FROM KARMANGHAT X ROADS TOWARDS SAGAR X ROADS	RANGA REDDY	REGULAR	150	OPEN	DC	25	25	800	32	75	DRAW OF LOTS	15	5
369	ON COLLECTOR OFFICE ROAD FROM PRATHIMA COMPLEX TOWARDS GODDAM ROAD ON EITHER SIDE	KARIMNAGAR	REGULAR	150	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
370	ON RADIAL ROAD NO.30, TELLAPUR MUNICIPALITY	SANGAREDDY	REGULAR	155	OPEN	CC	25	25	700	32	12	BIDDING	30	5
371	ON LHS FROM NACHARAM VILLAGE TO DUDYAL X ROADS ON NEW NH	VIKARABAD	REGULAR	155	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
372 373	WITHIN 2.5 KM FROM SHADNAGAR BUS STAND ON SHADNAGAR ROAD TOWARDS NH44	RANGA REDDY MAHBUBNAGAR	REGULAR REGULAR	120 170	SC CC 1 OBC CC 1	CFS DC	30 25	30 25	900 625	0 32	0 55	DRAW OF LOTS DRAW OF LOTS	0 15	3 4
373	MAKTHAL MUNICIPAL LIMITS ON MAKTHAL-UTKOOR ROAD ON LHS FROM ORR EXIT NO.7 TO THUMKUNTA	MEDCHAL MALKAIGIRI	REGULAR REGULAR	150	OBC CC 1	DC	25	25	700	32	75	DRAW OF LOTS	15	- 4
3/4	ON LEIS FROM ONE EXTENS. / TO TRUMEDITA	WILDCHAL WALKAJOINI	NEGULAR	130	O'. EIN	DC DC	2.5	23	,00	32	13	DIVUAL OL FO13	1.3	J 3

375	MANCHIREVULA LIMITS NOT ON ORR SERVICE ROAD	RANGA REDDY	REGULAR	300	OPEN PH	DC	20	20	700	32	55	DRAW OF LOTS	15	5
376	WITHIN PRATHAPASINGARAM LIMITS, GHATKESAR MANDAL	MEDCHAL MALKAJGIRI	REGULAR	150	SC	CFS	25	25	700	0	0	DRAW OF LOTS	0	3
377	FROM SHIVAJI CHOWK TO BASAWESHWARA CHOWK ON SANGAREDDY BYPASS ROAD	SANGAREDDY	REGULAR	150	OBC	DC	25	25	625	32	55	DRAW OF LOTS	15	4
3//	CONNECTING NH65	SANGAREDDY	REGULAR	150	OBC	DC	25	25	625	32	55	DRAW OF LOTS	15	4
378	FROM MOULA ALI CROSS ROAD TO ECIL CROSS ROAD	MEDCHAL MALKAJGIRI	REGULAR	210	OPEN	DC	20	25	700	32	75	DRAW OF LOTS	15	5
379	VELIMELA, TELLAPUR MUNICIPALITY	SANGAREDDY	REGULAR	150	OBC	DC	25	25	700	32	55	DRAW OF LOTS	15	4
	ON LHS, FROM PVNR EXPRESSWAY PILLAR NO. 215 TO NIRD CROSS ROAD ON RAJENDRANAGAR													
380	ROAD	RANGA REDDY	REGULAR	210	SC	CFS	20	20	700	0	0	DRAW OF LOTS	0	3
381	ON LHS, WITHIN 2 KM FROM SHANKARPALLE BUS STAND TO ODF, ON ODF MAIN ROAD	RANGA REDDY	REGULAR	150	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
382		RANGA REDDY	REGULAR	150	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
383	ON LHS, WITHIN 3 KM FROM FATHEPUR FLYOVER TO KANDI, ON KANDI ROAD ON LHS, WITHIN 5 KM FROM TSPA JUNCTION TO MOINABAD ON NH	RANGA REDDY	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
384		MEDCHAL MALKAJGIRI	REGULAR	150	OPEN	DC	25	25	700	32	75	DRAW OF LOTS	15	4
	WITHIN 3 KMS FROM YAMNAMPET FLYOVER TOWARDS GHATKESAR													
385	ON LHS BETWEEN ORR EXIT NO.5 AND ANNARAM ON NH	SANGAREDDY	REGULAR	180	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
386	FROM ORR EXIT 1 TO WIPRO CIRCLE GACHIBOWLI ON ISB ROAD	RANGA REDDY	REGULAR	150	OPEN	DC	20	25	700	32	75	DRAW OF LOTS	15	5
387	BELLAMPALLI MUNICIPAL LIMITS NOT ON NH	MANCHERIAL	REGULAR	120	OPEN CC 1	DC	20	20	400	32	55	DRAW OF LOTS	15	5
388	KONIJERLA VILLAGE TO PALLIPADU VILLAGE ON THALLADA -KHAMMAM ROAD	KHAMMAM	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
389	ON LHS, FROM RCI BALAPUR AIRPORT X ROADS TO THUKKUGUDA ORR JUNCTION	RANGA REDDY	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
390	SUNCITY, BANDLAGUDA JAGIR ON SUNCITY ROAD	RANGA REDDY	REGULAR	150	OPEN	DC	20	20	700	32	75	DRAW OF LOTS	15	5
391	KONGAR KHURD (A), MAHESHWARAM MANDAL	RANGA REDDY	REGULAR	150	OBC	DC	25	25	800	32	75	DRAW OF LOTS	15	4
392	FROM HAFEEZPET TO KUKATPALLY HOUSING BOARD ON HAFEEZPET ROAD	MEDCHAL MALKAJGIRI	REGULAR	250	OPEN	DC	20	20	700	32	75	DRAW OF LOTS	15	5
393	FROM NIZAMPET X ROADS TO BACHUPALLY X ROADS ON NIZAMPET MAIN ROAD	MEDCHAL MALKAJGIRI	REGULAR	250	OPEN	DC	25	25	700	32	75	DRAW OF LOTS	15	5
394	ON LHS OF GUMMADIDALA MANDAL (GUMMADIDALA TO ORR EXIT NO.5).	SANGAREDDY	REGULAR	160	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
395	ON LHS, WITHIN 1 KM FROM PAHADI SHAREEF POLICE STATION TO BABA NAGAR	RANGA REDDY	REGULAR	150	OBC	DC	25	20	800	32	75	DRAW OF LOTS	15	4
	FROM YASHODA HOSPITALS HITECHCITY(GHOUSIA MASJID ROAD) TOWARDS HITEX													-
396	CHARMINAR (HITEX ROAD)	RANGA REDDY	REGULAR	400	OPEN	DC	20	20	700	32	75	DRAW OF LOTS	15	5
397	FROM METRO PILLAR A717 NEAR JNTU TO KAKATIYA HILLS	MEDCHAL MALKAJGIRI	REGULAR	300	OPEN	DC	25	25	700	32	75	DRAW OF LOTS	15	5
398		RANGA REDDY	REGULAR	105	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
399	FROM SHADNAGAR TO CHINCHOD ON GUNDLAKUNTA ROAD	RANGA REDDY	REGULAR	180	OBC	DC	20	20	700	32	75	DRAW OF LOTS	15	4
399	ON LHS, WITHIN 2.5 KM FROM SHIVAJI CHOWK TO KISMATPUR ON KISMATPUR ROAD	KANGA KEDDY	REGULAR	180	OBC	DC	20	20	700	32	/5	DRAW OF LOTS	15	4
400	ON LHS FROM BONGLOOR CROSS ROAD TO MANNEGUDA CROSS ROAD ON NAGARJUNA SAGAR	RANGA REDDY	REGULAR	250	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
	ROAD													
401	FROM RCI-AIRPORT JUNCTION TO PAHADISHAREEF ROAD ON BALAPUR-RCI AIRPORT ROAD	RANGA REDDY	REGULAR	200	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
401	WITHIN JALPALLY MUNICIPALITY	NANGA REDDI	REGOLAR	200	OI EIV	ьс	30	30	300	32	75	DIAW OF LOTS	15	,
402	ON LHS, FROM CHEVELLA SHANKARPALLE CROSS ROADS TO NARSINGI CIRCLE ON OSMAN	RANGA REDDY	REGULAR	150	OBC	DC	20	20	700	32	75	DRAW OF LOTS	15	4
402	SAGAR RD	KANGA KEDDY	REGULAR	150	OBC	DC	20	20	700	32	/5	DRAW OF LUIS	15	4
403	WITH IN 4 KM, FROM GOWRARAM VILLAGE TOWARDS SIDDIPET ON SH	SIDDIPET	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
	KUKATPALLY(NH65-IDL ACCESS ROAD JUNCTION) TO HITECH CITY RAILWAY STATION ON GREEN				_									1
404	HILLS ROAD	MEDCHAL MALKAJGIRI	REGULAR	400	OPEN	DC	20	20	700	32	75	DRAW OF LOTS	15	5
405	FROM RANGA THEATRE TO NH 44 JUNCTION ON PIPE LINE ROAD	MEDCHAL MALKAJGIRI	REGULAR	270	OPEN	DC	25	25	700	32	75	DRAW OF LOTS	15	5
406	WITHIN MAMBOJIPALLY VILLAGE LIMITS ON NH	MEDAK	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
407	FROM BALKAMPET TO S R NAGAR CIRCLE	HYDERABAD	REGULAR	250	ST	CFS	25	25	700	0	0	DRAW OF LOTS	0	3
408		RANGA REDDY	REGULAR	250	OPEN	DC	20	20	700	32	75	DRAW OF LOTS	15	5
	MEENAKSHI TECH PARK TO IKEA CIRCLE ON MINDSPACE ROAD													
409	WITHIN KHANAPUR MUNICIPAL LIMITS ON MAIN ROAD NOT ON NH	NIRMAL	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
410	FROM MAMIDIPALLY TO SHAMSHABAD ON AIRPORT ROAD.	RANGA REDDY	REGULAR	300	OBC	DC	25	25	700	32	75	DRAW OF LOTS	15	4
411	FROM MJR MAGNIFIQUE IT BUILDING TO KHAJAGUDA ORR CIRCLE	RANGA REDDY	REGULAR	350	OPEN	DC	25	25	800	32	75	DRAW OF LOTS	15	5
412	MEDIKUNDA LIMITS ON SH	SANGAREDDY	REGULAR	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
413	FROM ANTHAIPALLI X ROADS TO UPPARPALLY	MEDCHAL MALKAJGIRI	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
414	ON LHS OF NH161 FROM NANDED TO SANGAREDDY STRETCH IN NIZAMPET MANDAL	SANGAREDDY	REGULAR	150	OPEN CC 1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
445	ON STRETCH OF KOHENUR ROAD-KANDUKURI ROAD-DALLAS CENTRE ROAD CONNECTING OLD	DANICA DEDDV	05011140	100	00581	D.C.	25	25	700	22	75	DOMES OF LOTS	45	_
415	MUMBAI HIGHWAY	RANGA REDDY	REGULAR	400	OPEN	DC	25	25	700	32	75	DRAW OF LOTS	15	5
416	PATIGHANPUR LIMITS NOT ON ORR SERVICE ROAD	SANGAREDDY	REGULAR	175	ST	CFS	25	30	800	0	0	DRAW OF LOTS	0	3
417	ON RHS WITHIN 02 KM FROM KANDI JN ON NH161 TOWARDS NANDED	SANGAREDDY	REGULAR	175	OBC	CC	45	45	2025	32	12	BIDDING	30	4
418	WITHIN 02 KMS FROM KOTHAGUDA-KONDAPUR ROAD INTERSECTION ON SESHADRI MARG	RANGA REDDY	REGULAR	500	OPEN	DC	25	25	700	32	75	DRAW OF LOTS	15	5
-120	ON NH365A WITHIN 3 KMS FROM POWER SUB STATION KAMEPALLY TOWARDS KHAMMAM ON	TO THE OF THE OF	HEGGERIN		OI EII				700	32	,,,	DIGITAL OF EOIS	10	+
419	EITHER SIDE	MAHABUBABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
420		MEDCHAL MALKAJGIRI	REGULAR	150	SC	CFS	25	25	700	0	0	DRAW OF LOTS	0	3
420	FROM CHENNAPUR CROSS ROAD TO BALAJI NAGAR	SANGAREDDY	REGULAR	175	OBC	CFS	35	35	1225	32	12	BIDDING	30	4
421	ON LHS FROM GIRMAPUR TO NAGSANPALLY ON NH65 NOT ON SERVICE ROAD		REGULAR REGULAR	175	OBC	DC	35	35 20	1225 700	32		DRAW OF LOTS	15	5
	ON LHS, FROM BOLLIGUDEM CROSS ROAD TO CHENGICHERLA	MEDCHAL MALKAJGIRI			Q. Z				1.00		75			
423	CHILKUR VILLAGE IN MOINABAD MANDAL ON NH	RANGA REDDY	REGULAR	300	OPEN CC 2	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
424	KOKAPET LIMITS	RANGA REDDY	REGULAR	300	OBC CC 1	CC	20	20	700	32	12	BIDDING	30	4
425	UPPERPALLY LIMITS	RANGA REDDY	REGULAR	300	SC CC 1	CFS	20	20	700	0	0	DRAW OF LOTS	0	3
426	ON LHS, MOULA ALI KAMAN CROSS ROAD TO ZONAL RAILWAY TRAINING INSTITUTE	MEDCHAL MALKAJGIRI	REGULAR	150	OPEN	CC	25	25	700	32	12	BIDDING	30	5
427	WITHIN 01 KM FROM UTTAM NAGAR-MALKAJGIRI X ROAD ON EAST ANANDBAGH MAIN ROAD	MEDCHAL MALKAJGIRI	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
428	ON NH63 , WITHIN 2 KM FROM SALOORA CAMP , TOWARDS BODHAN	NIZAMABAD	REGULAR	155	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
420	ON LHS, WITHIN 1 KM FROM MALLIKA AC CONVENTION, SHAMSHABAD TO GAGANPAHAD ON	DANICA DEDDY	DEC::: 15	270	SC	CFS	30	30	900	0	0	DDAW OF LOT	0	_
429	UTKOOR - MOGDUMPUR ROAD	RANGA REDDY	REGULAR	270	SC	CFS	30	30	900	U	U	DRAW OF LOTS	U	3
430	ON LHS, FROM SAHEBNAGAR TO INJAPUR ON BANK COLONY ROAD	RANGA REDDY	REGULAR	330	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
431	KHAJAGUDA X ROADS TO UNIVERSITY OF HYDERABAD ON OLD MUMBAI HIGHWAY	RANGA REDDY	REGULAR	450	OPEN	DC	25	25	700	32	75	DRAW OF LOTS	15	5
432	WITHIN TANDUR LIMITS ON HIGHWAY	VIKARABAD	REGULAR	175	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
433		KUMURAM BHEEM ASIFABAD	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
434	WITHIN 4 KM FROM GOLLET X ROAD TOWARDS ASIFABAD ON NH	RANGA REDDY	REGULAR	150	ST	CFS	25	25	800	0	95	DRAW OF LOTS	12	3
	FROM ARAMGHAR CROSS ROADS TO M J PALACE FUNCTION HALL			150		DC	25	25 25	800	32	75		15	5
435	ON AMEENPUR ROAD FROM BEERAMGUDA ON RAGHAVENDRACOLONY ROAD TO AMEENPUR	SANGAREDDY	REGULAR		OPEN							DRAW OF LOTS		
436	WITHIN 5 KM FROM SULTANABAD BUS STATION TOWARDS PEDDAPALLI ON SH	PEDDAPALLI	REGULAR	100	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
1	WITHIN 2 KM FROM NEW COLLECTORATE, ASIFABAD TOWARDS CHIRRAKUNTA ON ASIFABAD	KUMURAM BHEEM ASIFABAD	RURAL	70	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
	CHIRRAKUNTA ROAD												,	
2	DABBA VILLAGE ON MAIN ROAD(CHINTALAMANEPALLY MANDAL)	KUMURAM BHEEM ASIFABAD	RURAL	70	OBC	DC	25	25	625	16	35	DRAW OF LOTS	5	3
3	GUNJAPADUGU VILLAGE ON GODAVARIKHANI-MANTHANI ROAD,MANTHANI MANDAL	PEDDAPALLI	RURAL	80	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	2
4	KERIMERI VILLAGE ON MAIN ROAD(KERIMERI MANDAL)	KUMURAM BHEEM ASIFABAD	RURAL	70	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
-														

## Comment of the Com															
Section Company Comp	5		ADILABAD	RURAL	70	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
## STREET OWN AND FRANCISCO STANDARD MANUAL PROPERTY AND ADDRESS OF THE STREET OWN AND ADDRESS O	6	WITHIN 2KM FROM BABU JAGJIVAN RAM STATUE, KOUTALA TOWARDS RAVINDRA NAGAR ON	KUMURAM BHEEM ASIFABAD	RURAL	70	OBC	DC	25	25	625	16	35	DRAW OF LOTS	5	3
1	7		KAMAREDDY	RURAI	85	ST	CES	25	25	625	0	0	DRAW OF LOTS	0	2
A	8													5	4
11	9		ADILABAD	RURAL		OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
Description of the control of the	10				70	OBC	DC	25	25	625	16	35		5	3
MACHINITECTURE COLUMN AND ALL MAN EARLY MAN		WITHIN 3KM ASIFABAD-ADILABAD X ROAD, ASIFABAD TOWARDS KERIMERI										35		5	4
14					_										2
STATE PROPERTY OF THE PROP															3
Part											-			5	4
Description The Control of Co								_						5	4
The component of the															3
13											-			5	4
BIRDINGENERY TO STATE OF SAME AND AND STATE OF SAME AND STATE OF SAME AND AND														5	4
1														0	2
23 WITH THE PROPRIESE MANAGE STREET AND STREET			PEDDAPALLI	RURAL		OBC			25		16	35	DRAW OF LOTS	5	3
Mathematical Control of the Contro	22		MEDAK	RURAL	80	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
## STEAM WATER OF MARK RESOLVEN BOOM MERCAN ENGINE AND ADDRESS OF STEAM		BHEEMPUR VILLAGE ON MAIN ROAD(BHEEMPUR MANDAL)				OPEN CC 2								5	4
WITH THE MEMORAPOON AND ADDRESS OF THE ADDRESS OF		YELKAPALLY VILLAGE ON MAIN ROAD (PENCHIKALPET MANDAL)												_	3
PRINCE P											-			_	2
The company of the															4
WITH THE AMERICAN STROME SELECTATION AND ASSESSMENT OF THE WITH THE AMERICAN STROME														-	4
BRITTON NALES MARCON LANGES MARCON MARCO	28		MEDAK	RURAL	80	OBC	DC	25	25	625	16	35	DRAW OF LOTS	5	3
MITTHEN MARCHES PARLACE, GAMERA MARCHAN OF ONE S. 1900/PT RIPAL 50 DPPH DC 25 25 55 55 15 15 15 100 PARCH OF OTS 5 15 15 15 15 15 15 15	29		NIZAMABAD	RURAL	95	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	2
	20		CIDDIDET	DUDAL		ODEN	D.C.	25	25	COF	10	25	DRAW OF LOTE	-	4
Section Sect														5	4
13 PORM MURA ALADOROMA MARGON DE REMANDO PRANCE MARGON DE REMANDO P														5	3
March Marc														5	4
FROM KARRAGEUTH WILLAGE TO RELIZA WILLAGE, RELIZA WILLAGE, STANGER, RELIZA WILLAGE, THE MANAGEMENT MANAGEMENT AND				RURAL					25					0	2
17	35		NIZAMABAD	RURAL		OPEN	CC	25			16	6		10	4
BILINGARUN FILLER CON MAN RODGE (INCRAFUR MANDEL) EXAMANAM BERTAN ASPRAND RUPAL 20 SC CF 25 25 65 65 0 0 DIAM OF LOTT 0	36		NIZAMABAD	RURAL	75	OBC	DC	25	25	625	16	35	DRAW OF LOTS	5	3
SOMPRE NULLAGE, COTAGEMENTAL CONTROLOR FROM PRODUCT STATE AND ST	37	FROM BIRKUR VILLAGE TO KOLLUR VILLAGE(BANSWADA MANDAL)	NIZAMABAD	RURAL	95	OPEN CC 1	DC	25	25	625	16	35	DRAW OF LOTS	5	4
## OF WITTEN MILES OF MANAGEMENT TO VERNING ROAD ## ALL WITTEN MILES OF MANAGEMENT TO VERNING ROAD ## ALL WITTEN MILES OF MANAGEMENT TO VERNING ROAD ## ALL WITTEN MILES OF MANAGEMENT TO VERNING ROAD ## ALL WITTEN MILES OF MANAGEMENT TO VERNING ROAD ## ALL WITTEN MILES OF MANAGEMENT TO VERNING ROAD ## ALL WITTEN MILES OF MANAGEMENT TO VERNING ROAD ## ALL WITTEN MILES OF MANAGEMENT MILES OF MANAGEMENT TO VERNING ROAD ## ALL WITTEN MILES OF MANAGEMENT MILES OF MANA	38	LINGAPUR VILLAGE ON MAIN ROAD(LINGAPUR MANDAL)	KUMURAM BHEEM ASIFABAD	RURAL	70	SC		25			0	0	DRAW OF LOTS	0	2
1		SOMPUR VILLAGE , KOTAGIRI MANDAL, ON HUNSA TO KOLLUR ROAD												10	3
PROM_CHERON_VILLAGE TO SADDHEFEMON_VILLAGE, SEPENDAL MARDOL AS TANDON VILLAGE TO SADDHEFEMON_VILLAGE, SEPENDAL MARDOL AS TROM MODICION IN THE STORE, A CONTROL MARDOL M						· · ·								5	4
14 TANDEWILLEGE ON TANDEMS ROAD(TANDEMS ROAD(TANDEMS ROAD(TANDEMS ROAD) MARCHERIAL RIVER FOR MANDGUEDER HIGHS EXCEPT ON TO ASSACRATIOUS SUPPORT RIVER FOR MANDGUEDER HIGHS EXCEPT ON TO ASSACRATIOUS SUPPORT RIVER FOR MANDGUEDER HIGHS EXCEPT ON THE ROAD SUPPORT RIVER FOR MANDGUEDER HIGHS EXCEPT ON THE ROAD RIVER FOR MANDGUEDER HIGHS EXCEPT ON THE ROAD RIVER RIVER FOR MANDGUEDER HIGHS EXCEPT ON THE ROAD RIVER RIVER FOR MANDGUEDER HIGHS EXCEPT ON THE ROAD RIVER R					_									5	4
## FROM NANGGUIDEM WIGH SCHOOLTS GRAAKATHGUDEM ON ANGGUIDEM - RARAKATHGUDEM SURYAPET RUM 50 OPEN DC 30 30 90 16 35 DRAW OF LOTS 5 ## ARLUANARI GHANPIR PULILAGE TURNAGAMA MANDAL NOT ON NH ## WITHIN 2 AN IFROM CATTA PARKSHAPPIR RULLAGE ON NANH ROAD, VEHATAPPIR MULUGU Rural 100 ORC DC 30 30 90 900 16 35 DRAW OF LOTS 5 ## ARLUANARI GHANPIR RULLAGE TURNAGAMA MANDAL NOT ON NH ## WITHIN 2 AN IFROM CATTA PARKSHAPPIR RULL SCHOOL NANH ROAD, VEHATAPPIR MULUGU Rural 100 ORC DC 30 30 90 900 10 18 35 DRAW OF LOTS 5 ## ARLUANARI SCHOOL RULLAGE TO NANH ROAD, VEHATAPPIR MULUGU Rural 100 ORC DC 30 30 90 90 0 0 0 DRAW OF LOTS 5 ## ARLUANARI SCHOOL RULLAGE TO NANH ROAD SCHOOL RULLAGE ON NANH ROAD SCHOOL RULLA														5	3
## BOAD ## ANTI-NAVARI GIMAPUR VILLAGE CTUNKAGRAM MANDAL NOT ON RH ## MULUGU Rard 80 0PEN DC 30 30 90 30 900 16 35 0RAW 0F LOTS 5 ## ACTION CHAPTRAQUEALY VILLAGE CON MAIN ROOD, VENATAPUR MULUGU Rard 100 0RC DC 30 30 90 30 900 16 35 0RAW 0F LOTS 5 ## WITTING 250 FROM STATE AND ACTION CONTROL OF THE WASHINGTON TO MAIN ARRONDO AND ACTION CONTROL OF TH	43		MANCHERIAL	RURAL	/0	51	CFS	25	25	625	0	0	DRAW OF LOTS	0	- 2
45 RAGILARIS GIANTILIS TURIAGE TRUMACAGRAM MANDAL NOT ON HIS MULGUE IN MAIL 46 PROME CHATHRAID PURILAGE TO MAN BOOL, YENARTAPUR MULGUE IN MAIL 47 WITHIN 2 RM FROM GATLA MASSINGAPUR MULGE ON MAIL PROME MAIL 48 DOMALAPARLU VILAGE TO MASSINGAPUR MODE MAIL 48 DOMALAPARLU VILAGE TO MASSINGAPUR MODE MAIL 49 MITHIN 2 RM FROM GATLA MASSINGAPUR MODE MAIL 40 DOMALAPARLU VILAGE TO MASSINGAPUR MODE MAIL 40 MITHIN 2 RM FROM GATLA MASSINGAPUR MODE MAIL 40 MITHIN 2 RM FROM GATLA MASSINGAPUR MODE MAIL 41 MITHIN 2 RM FROM GATLA MASSINGAPUR MODE MAIL 42 MITHIN 2 RM FROM GATLA MASSINGAPUR MODE MAIL 43 DOMALAPARLU VILAGE TO MASSINGAPUR MODE MAIL 44 MITHIN 2 RM FROM GATLA MASSINGAPUR MODE MAIL 45 DOMALAPARLU VILAGE TO MASSINGAPUR MODE MAIL 46 MITHIN MINISTER MODE MAIL 47 MITHIN MINISTER MODE MAIL MASSINGAPUR MODE 48 MITHIN MINISTER MODE MAIL MASSINGAPUR MODE 48 MITHIN MINISTER MODE MAIL 48 MITHIN MINISTER MODE MAIL MASSINGAPUR MODE 49 MITHIN MINISTER MODE MAIL MASSINGAPUR MODE 40 MITHIN MINISTER MODE MAIL MASSINGAPUR MANDAL 40 MITHIN MINISTER MODE MAIL MASSINGAPUR MANDAL 41 MITHIN MINISTER MODE MAIL MASSINGAPUR MANDAL 41 MASSINGAPUR MODE MASSINGAPUR MANDAL 42 MITHIN MINISTER MODE MAN MODE MASSINGAPUR MANDAL 43 MITHIN MINISTER MODE MASSINGAPUR MANDAL 44 MITHIN MINISTER MODE MASSINGAPUR MANDAL 44 MITHIN MINISTER MODE MASSINGAPUR MANDAL 45 MITHIN MASS	44		SURYAPET	Rural	50	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
A7		AKULAVARI GHANPUR VILLAGE ETURNAGARAM MANDAL NOT ON NH				· · ·								-	4
## TO ELIATURHY ROAD ## TO ELIATURH ROAD ## TO ELIATURHY ROAD ## TO ELIATURH	46		MULUGU	Rural	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
## DOMALAPALI VILLAGE ON NALGONDA TO MUNUGODU ROD. ## ALANALE VILLAGE ON NALGONDA TO MUNUGODU ROD. ## ALANALE VILLAGE ON NALGONDA TO MUNUGODU ROD. ## ALANALE VILLAGE ON NALGONDA RUMA VADADB BHUXANARIR RUMA ** STATE OF THE	47		HANUMAKONDA	Rural	80	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
49	48		NALGONDA	Rural	50	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
STEPS WITHIN INSIGNATHY VILLAGE LIMITS ON INSIGNATIVE TO SELLIKUDIURU ROAD MAHABUBBBAD Rural 50 STPH CFS 30 30 900 0 0 DRAW OF LOTS 0	49					OPEN	DC		30					5	4
S2 DOTHIGUDEN VILLAGE POR NATULAGE OR	50	RAJESWARAPURAM VILLAGE ON NELAKONDAPALLI TO KUSUMANCHI ROAD		Rural	110	OBC PH		30		900	16	35		5	3
SAULIAPENTA VILLAGE ON RAVILAGE ON MAIN ROAD, YETHAMADIA MANDA NALGONDA Rural 50 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5											0			0	2
S4 MAGULAMALIAL YILLAGE ON MAIN ROAD, KOTHAPALLI MANDAL KARIMMAGAR Rural 80 OBC DC 30 30 900 16 35 DRAW OF LOTS 5														5	4
SPEAN SPEA														5	4
SECOND STATE STA														5	3
STR															2
S8 DIKSHAKUNTA VILLAGE ON MAIN ROAD, BHUPALPALLY MANDAL JAYASHANKAR BHUPALPALLY Rural 100 OBC DC 30 30 900 16 35 DRAW OF LOTS 5											-			U	4
Second S	•													5	3
60 WITHIN ROMPEDU VILLAGE ON YELLANDU-GUNDALA ROAD BHADRADRI KOTHAGUDEM Rural 130 SC CFS 30 30 90 0 0 0 0 DRAW OF LOTS 0 PARLAPELLI VILLAGE ON MAIN ROAD, HIMMAPPIN MANDAL KARIMNAGAR Rural 80 OBC DC 30 30 90 16 35 DRAW OF LOTS 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0														5	4
61 PARLAPELLI VILLAGE ON MAIN ROAD, THIMMAPUR MANDAL KARIMNAGAR RURAL 80 OBC DC 30 30 900 16 35 DRAW OF LOTS 5 62 AMUDALAPALLI VILLAGE ON MAIN ROAD, KESHAVAPATHAM MANDAL KARIMNAGAR RURAL 80 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5 63 THIRUMALAGIRI VILLAGE ON THIRUMALAGIRI SAGAR MANDAL NO SARIMANADAL NA SARIMANAM RURAL 100 OBC DC 30 30 900 16 35 DRAW OF LOTS 5 65 WITHIN SANIGANDLAPADU VILLAGE, SYERUPALEM MANDAL ON BANIGANDLAPADU ROAD KHAMMAM RURAL 100 OBC DC 30 30 900 16 35 DRAW OF LOTS 5 66 WITHIN SALVAPUR VILLAGE ON BIBINAGAR ROAD KHAMMAM RURAL 110 OPEN DC 30 30 900 0 0 0 DRAW OF LOTS 5 67 ALINAGAR VILLAGE ON BIBINAGAR ROAD KHAMMAM RURAL 110 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5 68 ALINAGAR VILLAGE ON BIBINAGAR ROAD WARDAL WADDAL WADDAL WADDAL HOUNDARD SANNAMPALU ROSS ROADS ON RHS (NOT ON NH) WADDAL WADDAL HOUNDARD SANNAMPALU ROSS ROADS ON RHS (NOT ON NH) WADDAL WA											-			-	2
62 MUDALAPALLI VILLAGE ON MAIN ROAD, KESHAVAPATNAM MANDAL KARIMNAGAR RUTAI 80 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0														5	3
63 THIRUMALAGIRI VILLAGE ON THIRUMALAGIRI SAGAR MANDAL 64 WITHIN BANIGANDLAPADU VILLAGE, VERRUPALEM MANDAL ON BANIGANDLAPADU ROAD 55 WITHIN SALVAPUR VILLAGE, LIMITS ON SALVAPUR TO BACHANAPUR ROAD 56 WITHIN SALVAPUR VILLAGE (LIMITS ON SALVAPUR TO BACHANAPUR ROAD 57 MITHIN SALVAPUR VILLAGE (DIMITS ON SALVAPUR TO BACHANAPUR MANDAL 58 MITHIN SALVAPUR VILLAGE (DIMITS ON SALVAPUR TO BACHANAPUR MANDAL 59 MITHIN SALVAPUR VILLAGE (DIMITS ON SALVAPUR TO BACHANAPUR MANDAL 50 SC 50 CFS 50 MITHIN SALVAPUR VILLAGE (DIMITS ON SALVAPUR TO BACHANAPUR MANDAL 50 SC 50 CFS 50 MITHIN SALVAPUR VILLAGE (DIMITS ON SALVAPUR TO BACHANAPUR MANDAL 50 SC 50 CFS 50 MITHIN SALVAPUR VILLAGE (DIMITS ON SALVAPUR TO BACHANAPUR MANDAL 50 SC 50 CFS 50 MITHIN SALVAPUR VILLAGE (DIMITS ON SALVAPUR TO BACHANAPUR MANDAL 50 SC 50 CFS 50 MITHIN SALVAPUR VILLAGE (DIMITS ON SALVAPUR TO BACHANAPUR MANDAL 50 MITHIN SALVAPUR VILLAGE (DIMITS ON SALVAPUR TO BACHANAPUR MANDAL 50 MITHIN SALVAPUR VILLAGE (DIMITS ON SALVAPUR TO BACHANAPUR MANDAL 50 MITHIN SALVAPUR VILLAGE (DIMITS MANDAL (NOT ON NH/SH) 51 MANDAUR MANDAL MANDAL (NOT ON NH/SH) 52 MANDAUR MANDAL MANDAL (DIMITS MANDAL (NOT ON NH/SH) 53 MANDAUR MANDAL MANDAL MANDAL (DIMITS MANDAL (NOT ON NH/SH) 54 MANDAUR MANDAL MANDAL MANDAL MANDAL (DIMITS MANDAL M	62		KARIMNAGAR	Rural	80	OPEN		30	30	900	16	35	DRAW OF LOTS	5	4
65 WITHIN SALVAPUR VILLAGE LIMITS ON SALVAPUR TO BACHANAPET MAIN ROAD IANGAON Rural 50 SC CFS 30 30 900 0 0 0 DRAW OF LOTS 0 66 TIMMARAOPET VILLAGE ON BIBINAGAR ROAD, BHOODAN POCHAMPALLY MANDAL YADADRI BHUVANAGIRI Rural 50 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5 67 ALINAGAS VILLAGE ON BIBINAGAR ROAD, BHOODAN POCHAMPALLY MANDAL YADADRI BHUVANAGIRI Rural 50 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5 68 KOLANUPAKA VILLAGE ON ALER TO KOLANUPAKA ROAD YADADRI BHUVANAGIRI Rural 50 OBEC DC 30 30 900 16 35 DRAW OF LOTS 5 69 WITHIN 1 KM FROM MULUGU AREA HOSPITAL TOWARDS ANNAMPALLI CROSS ROADS ON RHS (NOT ON NR) (NOT ON NR) 69 TO ANNAPUREDDYPALLY VILLAGE LIMITS, ANNAPUREDDYPALLY MANDAL (NOT ON NH/SH) BHADRADRI KOTHAGUDEM Rural 110 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5 71 FROM GOLLAGUDEM VILLAGE TO MONDIKUNTA VILLAGE ON BHADRADRI KOTHAGUDEM Rural 100 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5 72 WITHIN 2 KMS FROM IEEDIKAL SIRRAMATEMPIE TOWARDS SHABAZIPET JANGAON Rural 50 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5 73 NARSIMBATALA VILLAGE LOM KONDIKUNTA VILLAGE TOM MONDIKUNTA VILLAGE TOM SHABAZIPET JANGAON Rural 50 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5 74 KOTHAPET VILLAGE LUMITS ON MAHABUBABAD TO YELLANDER OAD MAHABUBABAD Rural 100 OFFI DC 30 30 900 16 35 DRAW OF LOTS 5 74 KOTHAPET VILLAGE LUMITS ON MAHABUBABAD TO YELLANDER OAD MAHABUBABAD RURAI 100 ST CC 1 CFS 30 30 900 16 35 DRAW OF LOTS 5														5	4
66 TIMMARAOPET VILLAGE ON BINNAGAR ROAD KHAMMAM RURAL 110 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5 67 ALINAGAR VILLAGE ON BIBINAGAR ROAD, BHOODAN POCHAMPALLY MANDAL YADADRI BHUVANAGIRI RURAL 50 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5 68 KOLANUPASA VILLAGE ON ALER TO KOLANUPAKA ROAD YADADRI BHUVANAGIRI RURAL 50 OBC DC 30 30 900 16 35 DRAW OF LOTS 5 69 WITHIN 1 KM FROM MULUGU AREA HOSPITAL TOWARDS ANNAMPALLI CROSS ROADS ON RHS (NOT ON NH) 70 ANNAPUREDDYPALLY VILLAGE LURITS, ANNAPUREDDYPALLY MANDAL (NOT ON NH/SH) BHADRADRI KOTHAGUDEM RURAL 110 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5 71 FROM GOLLAGUDEM VILLAGE TO MONDIKUNTA VILLAGE ON BHADRACHALAM-MANUGURU BHADRACHALAM-MANUGURU BHADRACHALAM-MANUGURU BHADRACH KOTHAGUDEM RURAL 100 OPEN CC 30 30 900 16 35 DRAW OF LOTS 5 72 WITHIN 2 KMS FROM JEEDIKAL SRIRAMATEMPIE TOWARDS SHARAZIPET JANGAON RURAL 50 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5 73 NARSIMBATALA VILLAGE LURITS ON MAHABUBABAD TO YELLAGUD ROAD MAHABUBABAD RURAL 100 ST CC 1 CFS 30 30 900 0 0 0 DRAW OF LOTS 5 74 KOTHAPET VILLAGE LURITS ON MAHABUBABAD TO YELLAGUD ROAD MAHABUBABAD RURAL 100 ST CC 1 CFS 30 30 900 0 0 0 DRAW OF LOTS 5														5	3
67 ALINAGAR VILLAGE ON BIBINAGAR ROAD, BHODDAN POCHAMPALLY MANDAL YADADRI BHUVANAGIRI Rural 50 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5 (80 KOLANIPAKA VILLAGE ON ALIRE TO KOLANIPAKA ROAD YADADRI BHUVANAGIRI Rural 50 OBC DC 30 30 900 16 35 DRAW OF LOTS 5 (90 WITHIN 1 KM FROM MULUGU AREA HOSPITAL TOWARDS ANNAMPALU CROSS ROADS ON RHS (NOT ON NH) (NOT ON NH														0	2
68 KOLANUPAKA VILLAGE ON ALER TO KOLANUPAKA ROAD YADADRI BHUVANAGIRI Rural 50 OBC DC 30 30 900 16 35 DRAW OF LOTS 5 69 WITHIN 1 KM FROM MULUGU AREA HOSPITAL TOWARDS ANNAMPALU CROSS ROADS ON RHS (NOT ON NH) (NOT ON NHAHBUBABAD (NOT NHAHBUBABAD) (NOT ON NHAHBUBABAD														5	4
69 WITHIN 1 KM FROM MULUGU AREA HOSPITAL TOWARDS ANNAMPALLI CROSS ROADS ON RHS (NOT ON NH) 70 ANNAPUREDDYPALLY VILAGE LIMITS, ANNAPUREDDYPALLY MANDAL (NOT ON NH/SH) 81 BHADRADRI KOTHAGUDEM 81 Rural 80 ST CFS 30 30 900 0 0 0 DRAW OF LOTS 0 DRAW OF LOTS 5 DRAW OF LOTS 6 DRAW OF LOTS 5 DRAW OF LOTS 6 DRAW OF LOTS 7 DRA														-	4
NOT ON NH NULLEGE TO MANAPUREDDYPALLY MANDAL (NOT ON NH/SH) SHADRADRI KOTHAĞUDEM Rural 110 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5			YADADRI BHUVANAGIRI	Rural								35		-	_
70 ANNAPUREDDYPALLY VILLAGE LIMITS, ANNAPUREDDYPALLY MANDAL (NOT ON NH/SH) BHADRADRI KOTHAGUDEM Rural 110 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5 71 FROM GOLLAGUDEM VILLAGE TO MONDIKUNTA VILLAGE ON BHADRACHALAM-MANUGURU BHADRACHALAM-MANUGURU BHADRADRI KOTHAGUDEM Rural 100 OPEN CC 30 30 900 16 6 BIDDING 10 72 WITHIN 2 KMS FROM JEEDIKAL SRIRAMATEMPLE TOWANDS SHARAZIPET JANGAON Rural 50 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5 73 NARSIMBATALA VILLAGE ON MAIN ROAD, NALGONDA MANDAL NALGONDA Rural 50 OBCCC1 DC 30 30 900 16 35 DRAW OF LOTS 5 74 KOTHAPET VILLAGE LIMITS ON MAHABUBABAD TO YELLANDU ROAD MAHABUBABAD Rural 100 ST CC1 CFS 30 30 900 0 0 DRAW OF LOTS 0	69		MULUGU	Rural	80	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
71 FROM GOLLAGUDEM VILLAGE TO MONDIKUNTA VILLAGE ON BHADRACHALAM-MANUGURU BHADRACH KOTHAGUDEM Rural 100 OPEN CC 30 30 900 16 6 BIDDING 10 72 WITHIN 2 KMS FROM JEEDIKAL SRIRAMATEMPIE TOWARDS SHARAZIPET JANGAON Rural 50 OPEN DC 30 30 900 16 35 DRAW OF LOTS 5 73 NARSHIMBATALA VILLAGE ON MAIN ROAD, NALGONDA MANDAL NALGONDA Rural 50 OBC.CC1 DC 30 30 900 16 35 DRAW OF LOTS 5 74 KOTHAPET VILLAGE LIMITS ON MAHABUBABAD TO YELLANDU ROAD MAHABUBABAD Rural 100 ST CC 1 CFS 30 30 900 0 0 DRAW OF LOTS 0	70		BHADRADRI KOTHAGUDEM	Rural	110	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
73 NARSIMBATALA VILLAGE ON MAIN ROAD, NALGONDA MANDAL NALGONDA Rural 50 OBC CC1 DC 30 30 900 16 35 DRAW OF LOTS 5 74 KOTHAPET VILLAGE LIMITS ON MAHABUBABAD TO YELLANDU ROAD MAHABUBABAD Rural 100 ST CC1 CFS 30 30 900 0 0 DRAW OF LOTS 0				Rural	100			30	30	900	16	6		10	4
74 KOTHAPET VILLAGE LIMITS ON MAHABUBABAD TO YELLANDU ROAD MAHABUBABAD Rural 100 ST CC 1 CFS 30 30 900 0 0 DRAW OF LOTS 0	72	WITHIN 2 KMS FROM JEEDIKAL SRIRAMATEMPLE TOWARDS SHARAZIPET	JANGAON	Rural	50	OPEN	DC	30	30	900	16	35		5	4
NOTIFICATION OF THE PROPERTY O														_	3
75 PATHA MOLGARA VILLAGE, BHOOTPUR MANDAL MAHBUBNAGAR Rural 100 OPEN PH DC 30 30 900 16 35 DRAW OF LOTS 5											-			0	2
	75	PATHA MOLGARA VILLAGE ,BHOOTPUR MANDAL	MAHBUBNAGAR	Rural	100	OPEN PH	DC	30	30	900	16	35	DRAW OF LOTS	5	4

76	WITHIN 2 KMS FROM NEMILA X ROADS, TOWARDS YADAGIRIGUTTA	YADADRI BHUVANAGIRI	Rural	50	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
77	ON LHS FROM BANDAMIDIPALLI GATE TO TURMAMIDI ON TANDUR-KOHIR ROAD	VIKARABAD	Rural	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
78	WITHIN CHEEKATI MAMIDI VILLAGE ON MAIN ROAD, MUNUGODU MANDAL	NALGONDA	Rural	50	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
79	MADANPALLE VILLAGE IN SHAMSHABAD MANDAL ON P1 ROAD	RANGA REDDY	Rural	100	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4
80	MELLACHERUVU VILLAGE, ON MELLACHERUVU - KODAD ROAD, MELLACHERUVU MANDAL	SURYAPET	Rural	60	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
81	MACHNOOR VILLAGE LIMITS ,JHARASANGAM MANDAL ON APPROACH ROAD TO NIMZ PARCEL-I	SANGAREDDY	Rural	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
82	MADDIRALA VILLAGE, ON MADDIRALA - MUKUNDAPURAM ROAD, MADDIRALA MANDAL	SURYAPET	RURAL	50	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
83	SOLAKALLY VILLAGE LIMITS ON SOLAKPALLY-VADEPPALY ROAD	SANGAREDDY	Rural	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
84	NARVA VILLAGE AND MANDAL	NARAYANPET	Rural	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
85	PARDI BUZURG(PARDI B) VILLAGE ON MAIN ROAD(KUBEER MANDAL)	NIRMAL	RURAL	70	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
86	AVUNUR VILLAGE , MUSTABAD MANDAL ON MUSTABAD TO SIRCILLA ROAD	RAJANNA SIRCILLA	RURAL	70	OPEN CC 1	DC	25	25	625	16	35	DRAW OF LOTS	5	4
87	POCHAPOOR VILLAGE LIMITS , SIRGAPOOR MANDAL	SANGAREDDY	Rural	75	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
88	BETWEEN MADARAM TO KODAKANCHI,JINNARAM MANDAL	SANGAREDDY	Rural	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
89	FROM MANCHUKONDA VILLAGE TO KONDAIGUDEM VILLAGE ON KHAMMAM-YELLANDU ROAD	KHAMMAM	Rural	50	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
90	MAHESHWARAM VILLAGE IN MAHESHWARAM MANDAL	RANGA REDDY	Rural	100	OPEN	CC	30	30	900	16	6	BIDDING	10	4
91	BARWAD VILLAGE LIMITS ,KOTEPALLY MANDAL ON TANDUR-MOMINPET ROAD	VIKARABAD	Rural	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
92	CHINNAMBAVI VILLAGE LIMITS ON PEBBAIR -KOLLAPUR ROAD	WANAPARTHY	Rural	90	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
93	TUNIKI BOLLARAM VILLAGE, MULUGU MANDAL, ON VANTIMAMIDI TO MEDCHAL ROAD	SIDDIPET	RURAL	70	OPEN	DC	25	25	625	16	35	DRAW OF LOTS	5	4
94	FROM VELTHURLAPALLY SUB STATION TO PALAMPETA VILLAGE ON GHANPUR TO INCHERLA	MULUGU	Rural	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4

#Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with

Application form and other relevant details. The Brochure is available in the Corporation Website (www.bharatpetroleum.in /

www.hindustanpetroleum.com / www.iocl.com / www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by

Type of RO	Type of Site	Category	Applicat ion fee in Rs.	Type of RO	Type of Site	Category	Application
							fee in Rs.
Regular ROs	CFS	SC/ST	3000	Rural ROs	CFS	SC/ST	2500
	CC	OBC	5000		CC	OBC	4000
	CC	Open	10000		CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 10 years and renewable every 10 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address:-

Regional Office Address	Districts	
	ADILABAD	
	JAGITIAL	
	KAMAREDDY	
Hindustan Petroleum Corporation	KOMARAM BHEEM ASIFABAD	
Limited, Nizamabad Regional Office, H-	MANCHERIAL	
No:- 6-2-151/1, First Floor, Ram Mandir	MEDAK	
Lane, Subash Nagar, Nizamabad -	NIRMAL	
503002. Phone no:- 7893628816	NIZAMABAD	
303002: 1110110 1101 7033020010	PEDDAPALLI	

	RAJANNA SIRCILLA
	SIDDIPET
	HYDFRABAD
	JOGULAMBA GADWAL
	MAHRURNAGAR
Hindustan Petroleum Corporation	
Limited, Secunderabad Regional Office,	MEDCHAL MALKAJGIRI
9-1-130/1, Sarojini Devi Street, Post Box	NAGARKURNOOL
No 5, Secunderabad - 500 003,	NARAYANPET
Telangana.Phone No:- 040-27778501	RANGA REDDY
angular none no. 040 27770302	SANGAREDDY
	VIKARABAD
	WANAPARTHY
	BHADRADRI KOTHAGUDEM
	JANGAON
	JAYASHANKAR BHUPALPALLY
Hindustan Petroleum Corporation	KARIMNAGAR
Limited, Warangal Retail Regional	KHAMMAM
Office, D.NO. 24-7-29, 2nd	MAHABUBABAD
Floor,Fathima Complex, Fathimanagar,	MULUGU
Kazipet, Warangal District, Pin: 506004,	NALGONDA
Telangana. Phone no:- 0870-2463309	SURYAPET
	WARANGAL RURAL
	WARANGAL URBAN
	YADADRI BHUVANAGIRI